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Complement Inferences on Theoretical Physics and Mathematics

Mesut KAVAK*

I have been working for a long time about basic laws which direct existence [1], and for some
mathematical problems which are waited for a solution. I can count myself lucky, that I could make
some important inferences during this time, and I published them in a few papers partially as some
propositions. This work aimed to explain and discuss these inferences all together by relating them
one another by some extra additions, corrections and explanations being physical phenomena are

prior.

1 Introduction

It seems, that existence cannot be separated from each
other because of an absolute entanglement. Even if it already
happened or shall happen in future, each influence which
exists within possibility border, already had been existed in
imaginary time which is an extremely interesting time con-
cept. Absolute space which has infinite dimension and vol-
ume, and emergence area which appears over the absolute
space, were always together but a special condition in the
imaginary time. This appearance emerges as a dimensional
drop and an acceleration decrease from infinite value by us-
ing from the absolute space as a part of it. Each small point of
the emergence area which is the result of this drop gets differ-
ent emergence time priority even for any short time interval
of any short time interval as it has to exist as a virtual part of
the absolute space. The emergence in this way renders im-
possible to exist of emergence area or emergence area objects
constantly without inner or outer space displacement, and to
move in a linear direction. Right this point, infinite number
of virtual small forces which emerge as a result of the infinite
time differences and make matter move to emerge of motion,
render impossible to apply force linearly and without dimen-
sion; hence the emerging force is an area force as a distributed
force, and matter is its result as an uncertain matter which all
measurable values of it change over time.

As matter is virtual part of absolute space, uncertainty
level increases or decreases between absolute absence and ab-
soluteness. Because of the emerging uncertainty [2], matter is
only able to emerge by some periods. This phenomenon ren-
ders matter illusion, and also renders it pretty process-able as
there is no alternative. Uncertain matter can only be formed
over absolute space as waves by forcing each second and actu-
ally even in each small period of time as well. It gains energy
equal to the work done of this forcing against tendency to sur-
render of the absolute space; but as the work done is not done
untimely manner, matter does not gain infinite work potential.
These conditions cause that matter has been emerging by in-
finite number of side effects on itself, and you cannot know
that this is an order or is chaos.

2 Theoretic analysis of motion

Motion is change in position of an object over time; so
to emerge of a motion certainly; distance, velocity, time and
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time-driven inertia namely latency have to emerge all together
without any priority. As it can get a scalar value for its all
elements which create it out, also it can be defined as vector
quantity if there is a reference because of emerging directions,
and magnitude of motion is not independent of magnitude of
its elements.

2.1 Theoretic analysis of functions of time

Velocity is the rate of change of position with respect to a
frame of reference. As it emerges in a direction in the space
which has another reference, it is defined as vector quantity.
It can be demonstrated as Eq. (1) in the simple form as an
expression,

Ve = Vit

ey

where vg, v¢ : R” — R”, a = v; as changing velocity over
time which means acceleration, where vy = v. It gets place in
destination equation according to time as Eq. (1a)

Xt = Vit (1a)
where x¢ = X as distance taken during motion.

Velocity is not independent of distance taken during mo-
tion, of time which passes during motion, of energy which
causes and keeps motion up during course duration, of inertia
which is a result of time as a latency as no motion is able to
emerge without time, as also they cannot be independent of
one another and velocity. They have to emerge all together
without any priority; because they are natural results for each
other.

Magnitude of velocity is not independent of magnitude of
its elements which emerge all together with them, and magni-
tude of velocity vector is called as speed which is independent
of direction as a scalar value. It can be demonstrated as Eq. (2)

@

vr = lIvillr

where vy : R" — R.

2.1.1 Work done interval

Let an object which is doing constant speed movement to
be accelerated when it had not gotten observational velocity
in space before doing constant speed movement. For this con-
dition, during the acceleration work, when the speed reached
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was too close to the aimed constant speed, the last part of the
distance taken would be as Eq. (3),

3)

2
Xp = vot + at

as partial distance taken, of course if you assume that, the
initial velocity does a constant speed movement without ac-
celeration during this infinite small part. For Eq. (3a),

2
xp—at

vo = lim (3a)

t—0 t

as time must be the smallest time, it means that either vy had
already been absolute as a constant speed motion that means
was not created and was without acceleration, or it means the
distance taken had already been zero. None of them is pos-
sible; thus it means that constant speed motion and constant
acceleration motion are not possible, and an object which is
doing an assumed constant speed motion in space either ac-
celerates or decelerates even if the amount is too small.

As it will require to be absolute, constant speed
motion and constant acceleration motion are not
possible. An object which is doing an assumed
constant speed movement as dependent manner
on time in space, either accelerates or decelerates
even if the amount is too small.

Inference: Bad boys

The famous destination equation which is Eq. (4)

at*
x(t) = xo + vot + 5 “)
is pretty wrong. It is derived over Eq. (4a),
x(t) = / (vo + at)d, (4a)

and is wrong; because if vy is able to be integrated like
Vo f d; = vot as the same as on Eq. (4a), also as the equa-
tion is at = v, then v can be integrated in the same manner.
Also for a = x/, the equation will turn into f (vg + (x/1))d;,
and thus turns into Eq. (4b).

x(t) = vot + xIn(t) (4b)
These give different results. It is like finding out f f(x)x d,,
and already integration does not mean sum always. The main
expectation for the sum must be [ dn. These are not able to
be integrated but specific conditions which have no formulaic
qualify as they are only valid for some certain values.

As constant speed motion is not possible as absolute with-
out to be created, any work that created constant speed motion
is included as well, can only be done in a time interval at a fre-
quency. As there must be infinite frequency, whatever the ac-
tual function is, the smallest f(x) part gains infinite sub parts,
and the repeating thing is this the same magnitude value. As
a result of this, functions of time as x(f) = as?, v(f) = at,

x(#) = vt and v* = ax get these simple forms. Even if obser-
vational outer space motion is done one by one, by different
time intervals or one-piece without hand taking, there is no
difference between them; because already the work is done
one by one.

For the functions of time over f’(f)) = %f;(”’) by using
derivative at a certain point as required by sum of infinite the
same work parts, velocity will be as Eq. (5),

. at* - at}
at = lim ——— )
H0h—=0 [ —1
where f(x) = ax?. Also it will be as Eq. (6),
Y Al V) 1))
v = lim 6)
=0 1 — 1
where f(x) = ax. Acceleration will be Eq. (7),
. ooat—al
a=1lim —— @)
10—-0 t—t

where f(x) = ax. Because of these reasons, if it is required to
integrate Eq. (4a), it will be Eq. (6).

x(t) = /(vo +at)d; = /(UQ + ix)d, =xo+x=dx (8

d
Eq. (5), Eq. (6) and Eq. (7) are the most basic pillars for like
these calculations. As constant acceleration as absolute is not
possible, a f td, = ar*/2 is not possible, and there is one more
option as well as Eq. (9).

x(t) = /(vo +at)d; = /(vo + vdit)d, =xo+x=4dx (9)

2.1.2 Timeless velocity equations

Handle the motions which have no observational outer
space initial velocity. If the time over Eq. (1) is placed on
Eq. (2) for their magnitudes, the timeless velocity equation
becomes Eq. (10).

v* = ax (10)
Also it can be presented as Eq. (10a).
v’ =(a-x) (10a)

Thereupon 1> = 2ax equation is wrong as well.

Handle the motions with initial velocity. Torricelli equa-
tion vj% = v? + 2ax gives wrong results because of v* = 2ax
equation. If v; is the initial velocity, v, is the gained velocity
different than the first velocity, v is the final velocity; then
the equations must be as vy = v; + v, and v, = a4t equations.
If they are the assembly elements, then for v7 = (v; + a,2)%, it
becomes Eq. (11). '

(1D

2 _ 2 22
Vp =07+ 2uia,t + agt

2 Theoretic analysis of motion
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If the total distance taken is xy, x; is the distance taken during
the same ¢ time by the initial velocity, x, is the distance taken
by the gained velocity which is different than the first velocity
during the same ¢ time, then the equations must be xy = x;+x,,
xy = ayt* and thus # = (x; — x;)/a, equations. If this time
is placed on the place on Eq. (11), then the equation becomes
v} = 0] + 2viayt + agxy — agx;. For v;t = x; equation, it will be
as 2v;a,t = 2x;a4, and the timeless velocity equation which is
with an initial velocity will be as Eq. (11a),

v} =07 + ag(x; + xy) (11a)
or will be as Eq. (11b) the below.
v} = 07 + ag(2x; + x,) (11b)
In the same manner, over v}, it will be as Eq. (12),
v%zv%+v§+2(x0-vg) (12)

where vy = agt, Xo = Vot and the other equations are as fol-
lows.
(12a)

(12b)

Vi - Vi = (Vo + agl) - (Vo + ag?)

2 _ 2 22
Vp— Uy = 2t(ag - vo) + ayt

2.1.3 Deceleration

As constant acceleration motion is not possible, then for
two different 7 values in x(¢f) = at* and v(¢) = at functions, will
change functions even for the smallest time change [1]. For
f(x) = ax* where a is any acceleration which is fixed or not,
over f(x,+1) = f(x,) equation where x,,; > x, and for the
same distance taken magnitude between two different times,
the equation becomes Eq. (13).

2
an Z‘n+l
= (13)
Ap+1 tn
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Fig. 1: Deceleration for a limited interval

There is a presentation of the motion as Fig. 1. Hence it
can be said that, a,, which is one of the previous acceleration
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magnitudes is always bigger than the next a,,; magnitude;
therefore the universe is decelerating from an infinite value
as a virtual part of absolute space, in a time interval and by
having emergence time priority for each small point of emer-
gence area. It has to emerge by frequency, and there cannot
emerge a point which has absolute emptiness namely noth-
ingness. Already acceleration is not possible from zero point
namely from nothingness because of previous motion, and al-
ready if constant speed and acceleration motion are not possi-
ble, it means that already motion emerges by parts over time
at infinite frequency which means no constant speed even for
infinite small work part. Otherwise, it requires to be absolute.

An uncertain matter can only emerge in a time
interval by a deceleration from infinity, as a part
of infinity, by repeating the same magnitude as-
sumed infinite small motion. As a result of the
deceleration, there cannot emerge an absolute
emptiness. Matter emerges over this emergence
space. Because of emerging uncertainty by an in-
finite frequency, matter basically does not have
work potential. An absolute must work con-
stantly even in the smallest time, instead of un-
certain worker.

Inference

2.2 Imaginary time requirement

2.2.1 Excessive time
Handle an equation like Eq. (14).

o+r—f=00

(14)

It means that an E energy is created over absolute space in ¢
time as virtual part of space, and it got lost after that in the
same magnitude ¢ time. It seems that there is no problem; but
actually when the event’s actual emerging function is written
as Eq. (15)

n

oo+Z(tn—tn_1)—t=00 (15)
n=1

where t, = t, there will emerge two different options accord-
ing to the calculation method. The sum’s result is either ¢ — 1,
where 7y = 0 or ¢ — #yp where 1, is a threshold value. For ¢y = 0,
it can be said, that it is impossible; because there are infinite
time intervals even for each magnitude time interval; so if the
result of #; —1( is not 0, then it means even #; has sub times, and
the same sum must be repeated for #; and even for its infinite
parts; so the equation turns into Eq. (16).

t—tg=t (16)
Hence time is only defined if it is
lim (1 —19) =1 (17)

10—0

Over Eq. (16), if both of the sides are squared, it becomes
1 = 4. Ifitis put on Eq. (16), the other root becomes #, = —%
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over ’5" — to = t. When the both roots are multiplied by each
other to create the main function which has these two roots, it
becomes —t(z) /4 = t and finally becomes Eq. (18).

l‘()=2i\/2

It can be said that time is always negative for any positive or
negative 7. If it is put on Eq. (16), it becomes Eq. (19),

(18)

— 12— 4ty = 4t (19)
where
to = —2n (19a)
t=2n-n? (19b)
being n € Z, for t/ty = —1 instead of 0/0 uncertainty, where
n=0.

If the same is applied for velocity, the distance taken of x

becomes
X0 = -4 \/E

where vy = 2i+/v. It is defined; so it means that whatever al-
ready there was motion as uncertain motion. This requires an
imaginary time; because existence can only be either absolute
or uncertain.

Hence, to be defined of ¢, it is required that #, must be 0;
but when it is done, also ¢ becomes 0. For ¢ = 0, also velocity
and distance taken become zero; therefore,  must has another
root that if Eq. (19) is checked, when it becomes n = 0, then
to and f become 0; but also for n = 2, t becomes zero; but
there is an imaginary time that there is a motion in a time
interval. This untimely manner creates a second time beyond
to be suddenly of it since it is a root of time; so it can be said
that, even there was no motion in outer space, there was a
repeated motion in imaginary time which is not absolute; but
also is not the same with time. Right this point, deterministic
image in the imaginary time appears, is lengthened by a repeat
frequency according to using energy by creating real time.
Each previous work is done timeless according to t — #y = f;
because here, it is #, — f,_; = fy; so each consecutive time is
equal to each other and 0; so also is #y = .

(20)

2.2.2 Derivative at infinite

Motion emerges by parts over time at infinite frequency
which does not bring matter out infinite energy but renders
uncertain as a virtual part. It could be in this way. Otherwise,
it requires to be absolute; then the functions of time as equa-
tions of motion emerge as Eq. (21), Eq. (21a) and Eq. (21b).
They give a single result for a single infinite derivation which
is done untimely manner as one-piece by visiting the differ-
ent functions they work over them. Here, actual functions of
time can be any function if it is compatible with the rule of
displacement; because the smallest same part will be used for
each infinite small frequency again and again.

n

o d
x=vt=0= lim —(x(t))
n—oo dt

ey

. d"
v=at=0=lim E(v(r)) (21a)

n—oo "

2 o d
x=at"=0= nh_)ngo E(X(I)) (21b)

t

where x(¢) = vt, x(t) = ar?, v(f) = at, and a and v are con-
stants as a number; therefore it means time has some roots.
Otherwise, it would not become like vt = 0, a2 = 0 or at = 0.
Even if actual functions of velocity, distance taken and accel-
eration were different, frequency function would be the same
as f(f) = 1/t. For this equation, it becomes Eq. (21c),

o
i = lim —(f()) 210)

If it is edited, it becomes Eq. (21d) over Eq. (21e) where n € Z

andn > 0.
t= lim(=D"! "/ (n + 1)! (21d)
1 + DI(=1)y™!
1@+ DD 21e)

t tn+2

Here, (—1)'“r1 cannot be taken to the outside like -1 or +1;
because n always changes. The difference is that it does not
turn it into complex number.

Here, 31_)190( log, n—log, t) = 1 when (—=1)"*! is ignored. It
is interesting, that actually ¢ gives positive and negative values
according to being positive or negative of n; but the function
converges to the Euler number as irrational value by

. n
L Y e

(=1)"*! on Eq. (21d) means that acceleration direction
would change in time if it was done in a time interval; however
there is no time interval to emerge of this because of infinite
derivatives which are done untimely manner; so it gives its
absolute characteristic. Even if there is no derivative done in
a time interval, it acts like such; so by using ratio test for both
t, = lim + X/2n)! and ¢_ = r}LIElo - "3/2n -1, t_ diverges

n—oo

in absolute value from the result of 7, for the same derivation
number; therefore when an addition is done for the assumed
smallest two consecutive parts, time seems as always nega-
tive, and the equation of velocity turns into Eq. (21f).

v =-at (211)
The actual reason of that negativity of the formu-
las like F = —ma is secret element of the for-
mula. F = ma or F = —ma is general formula
of the motion as presentation that actually it is
like a closed presentation of a chain. Because of
uncertainty, actually there is no absolute thresh-
old value. Existent smallest force can move exis-
tence biggest mass instantly even if the emerging
acceleration value will too small; so if there is a
motion, there are minimum 3 elements emerge

2 Theoretic analysis of motion
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in such a formula like F = —mja; + mpa, or
—F = mya; — mpa, because of that reason; be-
cause nothing can apply force without fulcrum.
If you blow air, then air will move; but also you
will move the earth instantly. 1 of the 3 elements
is ignored since will get a negligible value; but
actually it is always there and renders formulas
in the simplest forms like F = —ma.

Warning

2.2.3 Presentation by the relation between the functions

of time

As analysis together to learn the nature of the formation
by a different way, as v(¢) = at and x(¢) = at? functions change
by acceleration; to know velocity, distance taken and acceler-
ation change by which ratio, we must follow the area between
the two functions; because a is an intersection point on y axis
for both of the functions.

The area for changing time and acceleration values is
Eq. (22).

Av? Avf?

A= /(ax ax*)dy = — - —

2 3 22)

The ratio between the area and distance taken becomes
Eq. (23).
Aldr = t 7
273

For these values, the graph becomes Fig. 2. To determine the

(23)

Fig. 2: A/Ax function

intersection point of A and 4x, for A —4x = 0 equation, it will
be as Eq. (23a).

A—-Ax =2 -3t+6 (232)

Over the standard quadratic equation of ax? + bx + c, for the
roots over xj, = _bfa‘g equation where 4 = b? — dac, the
discriminant is as 4 = =39 for Eq. (23a). For 4 < 0, there
are no real roots and the quadratic equation has two complex
roots as Eq. (23b).

x12 = +0.7500 + 1.5612i (23b)
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According to Eq. (23a), there is no positive real number inter-
section point; so A and 4x never intersect.
The ratio between the area and velocity is Eq. (24).

2 3

1
Aldv = ——

573 (24)

For these values, the graph is Fig. 3.

Fig. 3: A/A4v function

To determine the intersection point of A and Av, for A —
Av = 0 equation it will be as Eq. (24a).
A-M=20 -3 +6 (24a)

By using Cardano’s formula for the standard equation of ax®+

bx2 + cx +d = 0, when the cubic equation as 28 -32+6=0
is divided by a = 2 as Eq. (24b),
3¢ 2
£ - - +3=0 (24b)
and it is substituted t =y- 3, where p = bzz + < and

26

q = 55~ W + ¢, the dlscrlmlnant of the cubic equatlon

which is 4 —(5)3 (5) becomes 4 = 15/8. Asitis 4 > 0,
one root is real and two are complex conjugates. The real root
is as Eq. (24c) for ¢, = a + 3,

t, = —1.0786 (24¢)
where @ = /-1 + V4 and g = y/—% — V4. The other two
roots of the cubic equation are Eq. (24d) for th3 = —%
iV3(@=p)

>

13 = +1.2893 + 1.0578i (244d)

According to Eq. (24a), there is no positive real number in-
tersection point; so A and Av never intersect at the positive
side.

The ratio between the area and acceleration is Eq. (25).

A
Alda=——

4
573 (25)

For these values, the graph is Fig. 4. To determine the inter-
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Fig. 4: A/4a function

section point of A and 4a, for A — 4a = 0 equation it will be
as Eq. (25a).

A-da=2"+35+6 (252)

Over the standard quartic equation of ax* +bx> +cx?> +dx+e =

0 by using the substitution ¢ = %, we get tl;e depreised}equa-

tion #* + pt? + gt + r = 0 where p = 330 g = Sadib —dabe,
2 2 4 3 . .

po= 0are=Giabd-3bas6ae - Ag it is ¢ = 0O for Eq. (25a),

t* + p? + gt + r = 0 becomes a bi-quadratic equation as

t* + p* + r = 0. The roots of the quartic equation are

Eq. (25b) for 1, = + N ’M, and are Eq. (25¢) for

2
fod =+ [ —p+\p*-4r
34 — %= P .

t12 =~ —0.65934 + 0.866004i

(25b)

134 = +1.40935 £ 0.738938i (25¢)

According to Eq. (25a), there is no positive real number inter-
section point; so A and 4a never intersect.

100 1

-100 1

Fig. 5: f(¢) function for x : 1 and y : 50 scale

As constant speed movement is not possible, motion
emerges by infinite small parts in a time interval. It causes fre-
quency. For (A/4v)/(A/4x) equation, it will become Eq. (26)
as frequency since frequency is v/x = 1/t = f.

3-2¢

f0=5—5

26
t—212 (26)

The graph of f(f) becomes Fig. 5.

According to da/At = (1/f)/(A/4a) equation, da/At be-
comes Eq. (27), and know that it is self-inverse function and
a~'(r) renders possible a closed curve.

6
a0) = 35— Q27

1 =2r

The graph of a(f) becomes Fig. 6.

S——

\

[\

-100

Fig. 6: a(r) function for x : 1 and y : 50 scale

The other functions of time turn into the following equa-
tions according to changing rule in time of acceleration which
is Eq. (27). Velocity function turns into Eq. (28).

u(t) = 3 (28)

t =212

The graph of v(¢) becomes Fig. 7.

100 1

Fig. 7: v(¢) function for x : 1 and y : 50 scale

Distance taken function turns into Eq. (29), and know that
it is self-inverse function and x~'(¢) renders possible a closed
curve.

x(t) =

3-2 29

The graph of x(¢) becomes Fig. 8.

According to x(f) graph, it seems that at the moment of
t = 0 second, already there had been motion. Motion had
not been emerged from nothingness. To analysis the condi-
tion, we must analysis the roots of the functions. Eq. (28)

2 Theoretic analysis of motion
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100

Ol -

-100

Fig. 8: x(¢) function for x : 1 and y : 50 scale

and Eq. (29) have the same roots with Eq. (23) and Eq. (24);
so they have no real root. Also Eq. (27) has the same roots
with Eq. (25); so only a(r) has real root, and it has a single
root as t; ¥ —1.0786. It seems that according to a(f) func-
tion, there is an imaginary time #; as the single root for any
function of motion as irrational number ¢ ~ —1.0786. Also
it means that as the time is uncertain, it was not an absolute
energy and motion; therefore it was also created but was with-
out time. At this time, acceleration is 1; so velocity becomes
u(f) ~ —1.0786. For positive acceleration as vector quantity,
if velocity is negative, then already there is an imaginary time
mentioned as there shall no place. There is no time difference
between two motions even as an threshold value. Absolute
0 point seems impossible and means that matter always to-
gether with heat. For this imaginary time, also distance taken
is positive as vector quantity. It means that distance taken and
velocity were in reverse directions. Frequency for these val-
ues will be v(f) ~ —0.92712 for v = 1/t that it seems also time
is vector quantity.

As it can be seen over Fig. 8, distance taken does not
reach infinite for [#;, 0]; whereas a(?), v(¢) and f(#) which are
the other functions of time increase into infinite value for the
same time interval. This seems as paradox; but it is because
of the creation of infinite. As everything is element of infi-
nite, since we cannot add anything in or detract from infinite,
the infinite does not work for any size work; so work done
is always zero for the infinite. The smallest work and the
biggest work are at the same difficulty; so at + = 0 second
point, the infinite creates after the thinking which causes a
potential difference without space wave. Creating from noth-
ingness requires this. You need infinite energy even for the
smallest mass part; so the infinite uses all the energy it has.
As frequency does not become 0 for any work after = 0 sec-
ond, it means that the motion does not be forgotten. Creation
always only happens at ¢ = 0 second by infinite frequency, by
infinite precision and by the simple functions like 4x = AvAt
and Adv = AaAt; because this is rendering visible process; but
even in imaginary time, matter was not absolute. This seems
as paradox but it is not. There is a third option as imaginary
time.
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2.3 Kinetic energy and momentum equations

2.3.1 Theoretic analysis of area

a) Dimensional emergence

To analysis dimensional density, for Eq. (30),

B 2. An)
dln) = ; A+ 1) 30)
the equation turns into (30a),
din) = ? (30a)

where A(n) = r''(t), n > 0, d(n) is density of existence area
of a dimension in the next dimension, and r(f) = vt as time is
restrictive to exist at anywhere at the same time along infinite
space, for a fixed and limited velocity. d(n) by this rule is
always divergent; so over Eq. (30b),

= A
lim — = 30b
n—oo tz_l: Ain+1) (300)
it can be said that any previous dimension which is assumed
as it creates out next one exists at infinite density in the next
dimension by a limited velocity; but as the relation between
different dimensions, the equation turns into (31),

B >, A®)
=3 2l
where m > 1, and it turns into (31a),
dn) = % (31a)

and is convergent. It means that a sub-dimension exists. As a
result, for (31b) over (31a) where n = 1 as 1 dimension,

lim@:O

m—oo M

(31b)

any dimension or actually 1 dimension has no density in abso-
lute space, and so cannot exist in infinite dimensional space.
Also lower dimensions’ density decreases for higher dimen-
sions that if a next dimension was created out by the previous
one or previous ones, this condition would be in the exact op-
posite way. This means that emergence area and its elements
emerge on their own space, that it requires to be determined
before. If it cannot create a next dimension out, and also if it
cannot be a part of infinite dimensional space as a formation
part of infinite space, it means that, area is absolute. Sub-
dimension cannot form the next one. It was always there, and
there is an appearance, and drop from infinity. There is no 0
dimension, and the other dimension appears as relatively in
different dimension by having different density.

For the above stated conditions, it seems that dimension is
movement way which does not mean area as it is not abstract,
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and is vector quantity. Each dimension has a unique way rel-
atively to any other dimension. As area, it is sum of dimen-
sional positive and negative movement lengths, and also is
vector quantity. Displacement vector is only able to emerge in
different ways as much as dimension numbers which area has
them; therefore area is defined if and only if is A : R* — R”
as vector quantity or if is A : R” — R as scalar magnitude,
where 7 is dimension number which the vector field function
A has; thus A emerges as n dimensional area which means al-
lows objects to move in different ways on displacement vector
line; otherwise objects can only move to the aimed point by
wandering and by a big latency.

As motion emerges in a time interval, it must always has
limited speed. As each dimension has unique way, emergence
of a rotation and its quickness are directly depended on di-
mension number. For example in 2 dimensional space, the
rotation path is always perpendicular to the course direction
before the rotation even for each thin space part. There can-
not emerge a soft rotation in 2 dimensional space because of
limited and at last fixed speed, as a shortcut in a different di-
rection will not emerge with an angle. To reduce rotational
latency and hardness, and thus to reduce emerging centrifugal
force because of emerging distance taken length, there must
always exist enough number of dimensions. Higher dimen-
sional objects do faster displacement. Only infinite dimen-
sional space allows movements to be in any direction of them
all together untimely manner without any angle, latency and
thus a sensed inertia.

For these reasons, because of its existence which means
the area covered, an object has to do a circular motion with an
angle by passing all the limited dimensions which are a result
of time to be formed since any point of space is intersection
point of dimensions as a part of space, even when matter is
static which means has no observational outer space motion
at that time. Right this point, it can be said that more speed
means more dimension scanning. Thereupon, density of an
object in emergence space which is the space emerges over
absolute space as a virtual part of it in a time interval by re-
peating the same motion with a frequency during passing the
limited dimensions, cannot exist in absolute space, emergence
area itself is included as well. It is in a closed and limited area
for any selected dimension.

As it can be seen, nothing lived forever during infinite
time period since nothing can be distributed as a density upon
infinite dimensional space, and it says that any act and phe-
nomenon are included in existence density; they emerge, act
and get lost together. To understand this better manner,

p 4nr?
3
this operation can be used for r = ¢t when you assume, that
the mass has just emerged at a point; because gravity is always
active in any direction and also no mass has infinite energy to
provide attraction from infinity.

(32)

As gravity is always active in all directions in space, for
an object which has just emerged with mc? energy, the energy
density where as far as r from the object can only change by
r = ct since the object cannot exist at every point of space
untimely manner. All works can be done as much as total
energy; so for an object which has energy density equal to its

2
total energy after ¢ time, over 15 for r = ct,
3

3m 1
2 _ T _
me= 47TC<I:ZI t3>

(33) can be written; but according to this equality, the condi-
tion must be ¢ <; thus being the initial time is #,

3Im ! 1
2 _
ne = (30 )

(33)

(34)

over (34), for the time intervals which the time interval be-
tween each consecutive interval is the same, it can be written
as (34a).

:i;: 13+ 213+ 323 " al3
I G GO I

1=ty
Here, as a is very big number, it can be ignored; so

(34a)

c\’ 1 1 1 1
S = % 1+273+¥+473+ +E (34b)
(34c¢) can be used instead of (34b).
A1
=(5) (X 5) (340
b=1
Here, being itis £(3) = i 5 Over M = mc?, it becomes
(35).
3 4ncd 35
T G

4rcd §(3)c
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If this is the equation, then over , it becomes (36).

33
P, £@3) (36)
4
As 1y is (k/¢)? in s, it becomes (37) the below.
3¢(3)
ty = 37
07 4ncd 37)
Over (33) and thus % = myc?, it becomes (38),
ny 1
— == (38)
my 1o

_ 1
where v = . as frequency.

2 Theoretic analysis of motion
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v is the maximum natural frequency which space can hold
because of the incompressibility property of matter. To have
a limit of gamma frequencies is not accident as matter has
no external supporter energy. Matter vibrates as much as this
frequency. Matter always uses its total energy which gained
during the creation.

my /v gets bigger due to the particle number and thus mass
which m; has; but if the particles are handled separately, each
one of them is reduced into a threshold mass value. A force is
distributing mass on space over time; so after a time, there
will only exist information even the mass is still there as
distributed extremely as its density in an unit of volume ex-
tremely will decrease. Nothing gets lost.

b) Absolute observer requirement

Handle a fixed object in a limited area in space. A fixed
observer does observation in a limited free space which has
E; energy, and has E total energy with its all elements. The
observer detected the object at d; length which has E; to-
tal energy without reference; then assume that, d; length is
lengthened to d, length but the observation angle ZBAC does
not change. There is a presentation of this event on Fig. 9.

E,
1| B c
E o
0.5 N g
0F N |
A
Es = E3 AE = E
| | |
-1 0 1

Fig. 9: Change in existence in a limited free space

In this condition, to gain E, energy of d, length where
E, > E|, this object has to use free space’s energy; therefore
at the end of the lengthening, the energy of free space abso-
lutely decreases. If it is assumed that the same operation is
done gradually forever, all the energy which the free space
has must be used for the observed object that the observer’s
energy is included as well; hence even if it is assumed that
the observation angle does not change, even for the smallest
change, as the area covered and its density will change, also
the angle has to change; so the equation becomes Eq. (39),

fim > Eu=E

where 7 is element number of free space, and E is total en-
ergy of free space with its all elements; so if you increase the
energy of the observed object, the observer loses energy; but
actually may the observer get lost completely?

(39)
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If you assume that the space may be able to be bended; but
to realize this, more energy is required; because if you want
to compare this, handle two different independent space that
one of them has A area has 2E total energy and d = 2E /Av?
density, and the other one has A/2 area has E total energy and
d = 2E/Av? density which is the same density with the other
one. As it can be seen for both of them, to create both space,
the required energy amount is the same as E = dAv?/2; hence,
it can be said that more denser space requires more energy;
because even if you assume like one of them has X energy, it
does not occur such that. For a formation speed of v, if you
create more denser space, you must change the work’s speed.
Force cannot be applied to compress space for the same time.
Ft/t, ratio always has to change where ¢t = 1 second or an-
other reference time which creates the force, and ¢, is the
application time of Ft. This creates different speeds and so
creates different space energy as work done is equal to kinetic
energy; so if you handle a limited space which has a fixed for-
mation speed, if a denser area emerges, as the speed is fixed
as there is always single work to create all the space and its
elements, there will always emerge a resistance which means
wish to have more speed to get denser; otherwise this density
wants to get lower density and be more ordered; so matter
always wants to be distributed; so while d; length is length-
ening for a limited energy, space cannot be bended more than
enough; so still the angle will change even for the smallest
change. Just change amount of the angle for the same time
interval will be different relatively to the other if there is more
tension; but at a point, it must be recovered by a bigger change
relatively to lower stress space.

There cannot be a zero resistance even for before
the beginning of time. Matter always wants to
be distributed. Denser area is always more dis-
ordered, and more energy is required to create
denser area.

Inference: Stress

Hence, even if you increase the energy of the observed ob-
ject for any magnitude limited formation speed, the observer
cannot be lost; because space and matter have an incompress-
ibility feature. At a point, it requires more energy than total
energy of free space with its all elements. If you increase
the observed object’s energy together with total energy of the
space by a new formation speed gradually forever being the
observer’s energy is fixed even for changing formation speed,
you must be decrease density of the observer as fixed area
cannot lift more than enough density. This is the same with
fixed speed space’s compress; so if there is no observer, there
is no matter. Actually it means if there is no matter, there is
no matter; because there is no difference between observation
energy and matter. Observation energy is also matter, and has
E/v* mass for a formation speed. As matter is a virtual part of
infinity, as required by infinite frequency, matter has no work
ability. Infinity must work instead of any worker; so also ob-
servation is done by observation of infinity; hence the right
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expression is that if there is no absolute observer, there is no
matter.

There would no matter if there was no observer.
Observer is absolute. The observers which are in
a limited uncertain emergence space which has
limited formation speed, cannot be lost.

Inference: Eye of God

Because of the incompressibility feature, it can be said
that even for the smallest existent work, work can only be
done against recovery wish of space; so matter cannot create
itself as a forcing each small time interval of each small time
interval is required which brings matter out total energy. Al-
ready, matter is uncertain. It means that it must be repeated as
a part of infinity. Uncertainty increases or decreases between
absolute absence and absoluteness but its loss; so a worker is
required for each small time interval instead of any worker.
Also as it was said in excessive time section, any motion has
to be deterministic. They are created untimely manner. There
is no time difference between two information in imaginary
time. Anything is element of infinity. If there shall emerge a
work, already it must be a part of infinity. Neither anything
can be added in nor detracted from infinity. Already this con-
dition requires to be deterministic of any act. If everything is
element of infinity, and also if infinity forces matter as there
is no alternative to create it as matter is absolute inert because
of a required absolute worker instead of any worker in each
small time interval, then to be absolute requires to have con-
sciousness. Nothing can be random. The infinity’s infinite
act is also determined and is included its infinite information.
Emerging things are the results.

2.3.2 Momentum

As area had been always existed, already the above stated
time functions as velocity, acceleration and distance taken
functions are dependent on this space as well; so as they can-
not be separated from time, also they cannot be separated
from inertia or latency which is the result of motion. As mat-
ter has infinite frequency as a requirement of to be virtual
part of absolute space, inertia emergence and its magnitude
can only emerge and increase in time as dependent of time in
0 <t < oo second interval; then the equation for latency in
[0, c0) interval becomes Eq. (40)

Lr(tn+l - tn)

=L
p d

(40)
where L, is reference latency, L, is detected latency. Even
the reference latency has sub-latency because of emerging in-
finite frequency; so here it must be always (4, — t,)/t, and
it means that which latency interval is used since there can-
not be a motionless interval. It does not mean there is a time
slip. It means that there was a potential which changes over
time whatever the emergence type; but it changed by an in-
fluence and is detected as different during change in ¢ time.

10

Emergence motion moves at that time. The equation will al-
ways provide the changing which occurs over time where L
can be mass, distance taken, velocity, force or acceleration as
elements of motion even as relatively to each other or in itself
that if Eq. (40) does not calculate potential change or influ-
ence potential change, L, and L, are always two parts of the
same L latency as kind; but if it calculates influence potential
which causes potential change or stays as influence potential,
then they are different to categorize.

As emergence area and its elements have infinite fre-
quency, mass which is the place that space exists denser there
as there cannot be an absolute emptiness because of deceler-
ation from infinity, can only be shown as Kgs which means
”Kilogram per second”. For a mass which increases in time,
it becomes Eq. (41) if it calculates potential change,

r tn - tn
w =my (41 )
t
where (f,+1 — t,)/t = a; so finally it becomes Eq. (42),
F =-ma 42)

if it calculates influence potential where F is influence poten-
tial even if it is used or not, m is potential and a = ||-al|. It
can be transformed into Eq. (42a), over v = —at.

Ft = mv (42a)
Here mv is momentum. Momentum means mass relative to
time. It is still mass in short. If m moves here, then v is the
speed of the moving mass. Otherwise already this speed is the
speed of mass or force change.

m, is sensed as F force or mass during the latency. This
is inertia. Any work can only be done in a time interval, and
so worker or the thing which is made it worked does work by
some periods as active, and does not do work by some periods
as inert. Actual result of this is to be absolute inert of matter
since an absolute energy has to do work instead of all another
uncertain workers even for each small time period. Matter
never gains a work potential, and it seems that everything has
to be determined before to be created; but still it is calculable
like it already had an influence potential like infinite although
it is not.

Also latency equality can be shown as Eq. (43)

X2 X
L[t t .
i (%) = Ai
since space cannot be independent of infinite. There is no
absolute emptiness; so if you assume that 1 dimensional space
part of x started vibration at a frequency by a natural latency
in a time interval as nothing is continuous, emerging inertia
i, which is always together with motion even for the smallest

time turns into 4i for any time interval during the formation
or even during an observational outer space motion which is

(43)

2 Theoretic analysis of motion
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after the emerging. As the result, mass equation turns into
Eq. (42) again.

Also over uncertainty, if m; is the assumed basic mass
when uncertainty warns, and m, is the mass detected at the
end of a 7, reference time; by the defined elements, emergence
of a mass can be expressed as Eq. (44).

t

my = my / dy,

0

(44)

The same m,; mass has to get different magnitudes for any
time between [0, ] or [¢,, 1] and "Kilogram per second” unit
that can be shorten as (Kgs) unit for 1 second.

vy = mg/mpt, 45)

Eq. (45) is the change in mass for a formation velocity of vy,
and it is equal to some variable values according to emergence
values; so it can be said that mass is a varying effect which is
detected within displacement time.

As displacement of the mass which moves in outer space
after the emerging increases for the reference time of abso-
lute upper limit of 1 second; so also its mass magnitude must
increase absolutely; because a motion in outer space cannot
be independent of emergence just as emergence cannot be.
As matter is always together a motion and so energy, when it
moved, then it means formation motion moved; thus mass of
the moving objects absolutely increases as matter gains mass
by the same way.

For m; (Kgs) mass which had been accelerated after it
emerged, as reference time of ¢, is 1 second and m; is an outer
space motion mass, it turns into Eq. (46).

v = mgt/mgyt, (46)
my (Kgs) mass is perceived as m; (Kgs) mass according to
the acceleration time ¢ by the reason of inertia. There is no
other mass. During the acceleration work, m, (Kgs) can be
assumed as the basic mass. The velocity here is equal to the
velocity of the mass which moves in observational outer space
if the mass moves. If the mass does not move, this velocity
is already the velocity of the change in the mass over time as
a perceived mass. For m; = m to be more clear of it, this
condition can be maintained as Eq. (47),

Ft = mv 47)
as my (Kgs) mass will get its standard mass magnitude if it
slows down; thus this mass can be assumed as a force as it is
variable, temporary.

Actually, as matter emerges over time, for
smaller application time interval than absolute
upper time limit which matter gains its maximum
mass magnitude value, the mass which the force
is applied is smaller than general mass magnitude
as the force is smaller as well; so actual equation
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for this condition is Fr> = mtv where t < f, be-
ing t, upper limit which means creation time that
we accept it as 1 second. Additionally, there is
one more option that as motion is deterministic,
when you wish to use more energy by the same
force by using the force in a smaller time, there
will no magnitude difference; thus F#> = mtv be-
comes invalid. This requires relative time. Time
passes different for different motions. Even so,
the energy is still used from total energy of uni-
verse. If this is the situation, then there are infi-
nite times that is more suitable with uncertainty
and the time differences.

Warning

2.3.3 Kinetic energy

2

As kinetic energy, use x = vt on Ft = mv or use v° = ax
on F = ma. They turn into Fx = mv? and so into Eq. (48).
W =mo’ (48)
Also over Eq. (49), it becomes Eq. (48) again,
W= [maa, (49)

where a = ¢

2 and x = vt. Energy means mass relative to
velocity, and is actual momentum. This is energy; because
actually on Fr = mv equation, for one fixed time or velocity
value, the other one of these two time or velocity can take
any different value. Right this point, the reference is distance
taken.

When a mass moves from A point to B point in space, it
means formation motion moved. As mass cannot be indepen-
dent of speed, the equation becomes Eq. (50); because matter
can be used as much as its total energy. All works are as
much as total energy and existence of matter; so last moving
total energy at the last condition of matter as a result must be
equal to sum of observational outer space kinetic energy and
static total energy.

2 2

}’I’l()62 +mv” = mc (50)
For Eq. (50), change in mass becomes Eq. (51).
m,
m=——— (51)
v
2

This mass is the mass which already had been accelerated and
is moving at a constant speed of v. For acceleration work, if
po = moc and v = Ft/my, then for f md,, it will be Eq. (52).

Ft
m = potanh™! (—)
Po

(52)

11
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As you can see on Eq. (51) or Eq. (52), the limit is ¢ for v =
Ft/my equation; but actually work can be done by any big
multiples of ¢ for Ft/mg equation and Ft/my > c status even
if the resulting velocity does not increase so much. We must
re-determine the condition. For Eq. (53) the below,

(Fi/po)-LFV/poJ>
Dn

Me = P tanhfl( (53)

it will be Eq. (54) for p, = m,c as

LFt/pol

m= § My
n=0

for the work’s whole value as there is no difference for an
one-piece work without hand taking or a work in pieces since
already the work is done one by one. For Ft/my < c status,
Eq. (52) can be used.

On Ft = mv equation, the multiplication of Ft does not
change even if the mass or the velocity on the momentum
equation changes by any rule; because they are self-formed
according to Ft work if this the equation; so over Ft = mv, =
mopv equation, the actual reached velocity v, will be Eq. (55).

2
V=0 1—6—2

(54)

(55)

Relative speed and mass
—_
T

S peed (v = %)

0

-10°
Fig. 10: Mass and speed changing graphic from m = mq to m = 2my

For Eq. (51) and Eq. (55), kinetic energy becomes Eq. (56)

over W = mv?
2 v’
W=mgov|1- el
c

(56)
Total energy becomes Eq. (57).
(57)

1-—
c2

As it can be seen over Eq. (57), mass and energy magnitudes
are not conserved in focal point even if work done energy is
conserved. Even total energy of universe does not change,
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total energy and mass of focal points of universe can change.
During this changing, total density of universe changes; but
its total energy is always conserved.

Mass and energy magnitudes are not conserved
in focal points of universe.

Inference

2.4 Relative motion relations

There are some special phenomena for relative motions
like relative speed and relative size; because an object is al-
ways more uncertain at a farther distance than a closer dis-
tance size relatively to eye.

2.4.1 Relative velocity at a perfect distance

Relative velocity of two moving objects is the displace-
ment of the moving one according to the resultant of the two
moving objects when one of them is assumed as fixed. Rel-
ative velocity magnitude is the same for the both moving ob-
ject. The thing which is not the same for each of them is the
direction of the movement; because for example, for one of
the infinite number relative motion combination of the two
object, one of them may see itself as slowing down even that
time it is not slowing down. To be positive or negative of
velocities according to a reference is related with their direc-
tions.

Fig. 11: Relative velocity at a perfect distance

When the velocity of the moving object which is assumed
as fixed is subtracted in vector from the other moving object
which is not counted as fixed, it is like distance taken in the
direction of the resultant according to the angle emerging be-
tween them as the result of the subtracting. The observer in
the other name the moving object which is not counted as
fixed observes itself at the resulting speed and in that direc-
tion of the resultant as an illusion. This calculation can only
be done for the objects which are at a perfect distance relative
to each other. This means that when the lengths of the vector
straight lines are drawn at the same ratio with the velocities,
they are intersected at a point perfect manner like on Fig. 11.
Otherwise, a second relative calculation must be done as the
objects which are at a far distance cannot be seen or are ob-
served as smaller than the original size, as also the velocity
will be observed as static like stars.

2 Theoretic analysis of motion
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For Fig. 11, over the law of cosines, the velocity relative

to v, means detected by v; as an illusion is Eq. (58) over U12e =

v% + v% — 2vivcosa.

Vg = \/v% + U% — 2vjvacosa (58)
For the velocity relative to vy, as it will be v = v3 + v} —
2vyvicosa, the relative velocity directly will be as Eq. (58)
again. The changing thing is relative or absolute destination
on space.

2.4.2 Relative size of fixed objects

As the size included observations which are different than
the above stated one, area of an object is observed as smaller
when you moved away from it, and is observed as bigger
when gotten closer to it. Any object always can only exist
between this two conditions. Right this point, we must com-
ment according to a size reference. Let us assume that this
reference is the length reference of the 1 dimensional object
has |BC| = d length, is as also a standard on Fig. 12. Assume
that this standard is to be observed of this |BC| as |BC| from
the rectangular distance of A being |AD| = |BC|. This 1 di-
mensional length is enough even for 3D observation; because
a 2D area will occur, and so the same 1 dimensional calcula-
tion will be done for both vertical and horizontal components.

Fig. 12: Perpendicular observation of fixed objects

Right this point, there are 2 different conditions to clarify.
They are perpendicular observation and angled observation.

a) Perpendicular observation

This observation is done on origin of the observed object.
If the observer is closer than the determined standard like to
be on E point on Fig. 12, the equations which were derived
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the below can calculate the observed size, and it will be like
FG.

First solution:

As the equation is |AD| = |BC| = |LH|, if we use AHLK
triangle which is one of two the same A4HLK and AHLM tri-
angles, over the Pythagoras Theorem, the equation will be as
Eq. (59).

|[HK|? = |HLP + |LKJ? (59)

When |HK|? over Eq. (59) is used on the law of cosine in the
same AHLK triangle for ZLHK = a/2, it will be as Eq. (59a).

|HL|

IHK| = cos(a/2)

(59a)

If |[HL| over Eq. (59a) is used on Eq. (59) again, it will be as
Eq. (60) being |HL| = |AB| = d is the actual size of the object,
IMK| = d' is the observed size of the object.

1
= 2d ) —— 1
d d cos*(a/2)

Second solution:

(60)

As we know emerging observation angle and standard size
of the observed object, we can use one of the half angle formu-
las. For tangent function, being tan(a/2) = |LK|/|HL|, over
the tangent half angle formula, the equation will be Eq. (61),

4dd’
tan@ = ————

42 — a7 D)

and it can only be solved by solving equation.
Third solution:

Being /BHC = a, it will be Eq. (62) over the law of
cosines in AMHK for |HM| = |HK| equation.

(62)

Also it will be Eq. (62a) for the same angle over the law of
cosines in ABHC for |BH| = |CH| equation.

(62a)

Over the Pythagoras Theorem in AHDC for |[HC| = |HB| and
|BD| = |DC| = |BC|/2 = d/2 equations, it will be Eq. (62b).
|[HD|> + |DCJ* = |HC)? (62b)
As the size reference which was determined the above is to be
observed of an object at its original size when it is observed

from the distance has the same length with the object, then
the equations must be |HL| = |BC| = d and |ML| = |LK| =

13
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IMK]|/2, and so over the Pythagoras Theorem in AHLK, it
will be Eq. (62c).
|HL]> + |LK|* = |HK|? (62¢)
From the similarity between AHLK and AHDC, the relation
is |HK|/|HC| = |LK|/|DC)|, and if it is squared, it will be as
Eq. (62d).
\HK*/|HC® = [LK*/\DC* (62d)

If |HCP? over Eq. (62b) and |[HK|? over Eq. (62c) are used on
Eq. (62d), it will be Eq. (62¢),

& &

—  —+|HDP

£ 20
. )

4 4

and finally it will be as Eq. (62f).

2

d
|HD| = —

= (62f)

If |JHC|? over Eq. (62b) is used on Eq. (62a) for |HC| = |HB|,
|DC| = d/2 and Eq. (62f) equations, then the function accord-
ing to observation angle of @ becomes Eq. (63).

1 - cosa
d =2d\| —
1+ cosa

b) Angled observation

(63)

Fig. 13: Angled observation of fixed objects

For angled observations, first of all we must find out per-
pendicular observation size of the observed object as |[EC| on
Fig. 13. To find out it, firstly we must know the distances be-
tween the observer and the axises of the observed object. Be-
ing |CF| = d, is the distance in x axis direction, and |FH| = d,
is the distance in y axis direction, |HC| is as Eq. (64).

HC| = \/d&? + &2

(64)
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In AEHC, over the law of cosines being ZEHF = a, it will be
Eq. (62b) for |EC| = d'.
|EC| = 2(1 - cosa)(dx + d,) (64a)

If Eq. (62b) is used on Eq. (63), finally angled observation
size of the observed object will be as Eq. (65).

& = 4d, + dy) 1) & — cosay’
S 1 + cosa

There is a special condition for angled observation that
the same angle does not mean the same size. An angle can be
the same with a perpendicular observation angle or observing
angle of an angled observation. The difference is like the dif-
ference between 4BRC on Fig. 13 and ABEC on Fig. 12. They
have the same angle; but they cannot detect the fixed size ob-
ject at the same size. Also like this observation which is done
from a distance smaller than the size of the observed object,
E point observes the object as |FFG| on Fig. 12. A perpendic-
ular observation reference cannot be determined like |GC| on
Fig. 13.

(65)

2.4.3 Simultaneous relative size change by velocity

If the objects move, as d, and d, on Eq. (64) will change
in time because of this movement, for the resultant velocity of
the two moving objects, that in x direction, it is vgy, and is vg,
in y direction, Eq. (65) turns into Eq. (66).

, (1 = cosa)®
d’ = 4dy £ gyt +dy Lo, \| —— (66)
1 + cosa

Here + is for direction of the movement. As change in @
on Eq. (66), for /BHC = «a and /CHF = 6 equations, it
will be tan(a + 0) = (d + d,)/d, and tan(6) = d,/d,. For
these equations, over trigonometric sum formula of tangent, it
becomes Eq. (62¢),

=t —1(7@(1 ) (662)
T\ e 2 v dd :
and for the movement, it becomes Eq. (66b).
o = tan-! ( (dy £ vgyt)d )
a (dy + vryt)? + d(dy + VR.t)? + (dy + V.t
(66b)

We should add the energy transformations relatively to
speed to these calculations as well especially for high speeds.
3 Formation of matter
3.1 Mass emergence and area force

As required by emerging uncertainty which actually is
equivalent of Heisenberg’s Uncertainty Principle, there can-
not exist an absolute part of matter. There must always be in-
finite frequency which renders matter as an illusion, and does
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not bring infinite work potential out for matter as kinetic en-
ergy is equal to work done. Existence can only exist either
as absolute or uncertain which is part of absolute. As matter
is uncertain emerges over absolute space, for this condition,
force cannot be applied without area. Force is only defined
when it is related with application area. Emerging variable
values of P = FA equation which relates force and area, in-
crease or decrease between absolute absence and absoluteness
but their losses. In the same manner, distributed load is mass
or force effect as well.

Force cannot be applied to the surface which has
no area covered. FA = P equation which is the
relation between force and pressure, is always
valid.

Inference

Fig. 14: Mass emergence

Handle an imaginary area on horizon like on Fig. 14 on
absolute space, and assume that it expanded. When it ex-
panded, the pressure of the outer space must increase as in-
ner density will decrease since the density of absolute space
is fixed. At this condition,

We = (Py = Po)xe[Ac = me; (67)
is the work done where P; is the outer space pressure, P, is the
inner pressure of the expansion, x, is the distance taken, A, is
the surface area of the expansion volume, v, is the velocity of
the work, and m, is the emerging mass as the result of this
action in the volume.

When it collapsed, the work done becomes

Wc = (Pc - Ps)xc/Ac = mcvz (68)
where P; is the outer space pressure, P, is the inner pressure
of the collapse, x, is the distance taken, A, is the surface area
of the collapse volume, v, is the velocity of the work, and m,
is the emerging mass as the result of this action in the volume.

For the both conditions, emerging mass as the result is
dependent of pressure increases for collapse since F from

*kavakmesut @outlook.com.tr

FA = P increases even if the pressure is in reverse direc-
tion, and decreases for expansion because of the same rea-
son. Whatever the direction, if there is an opposite work, the
work done is the work done against this opposite work. As
the result, it can be said that if mass will emerge, it should be
created by a collapse. Whatever which one was used to create
it, as constant speed movement is not possible and as the work
cannot be done timeless, also the work is done one by one at
a frequency. For this reason, any point of the emerging space
and mass have different priority since they are the result of
the action and are dependent of the work done; so they have
different mass magnitudes even the difference can be ignored
because of its small magnitude.

Again for the both conditions, as the new emerging area
has time difference at any point, when a force is applied to
a mass, the area which the force was applied on the mass
changes, as the emerging area of the force will change as well;
so a linear motion is not possible since an angle must emerge
during the work as you cannot determine a middle point. It
always slides, and this causes a type of circular motion that
actually causes a motion closes a curve as there is no alterna-
tive.

As motion, it always emerges in one direction as a resul-
tant; because it can be counted that, on a mass, there are infi-
nite number of forces which create motion in different direc-
tions; so as a resultant, motion only emerges in one direction
since there cannot be an absolute zero resultant because of
emerging infinite time differences and to be latency of mass
by a limited speed. Motion is not independent of mass, as
mass cannot be. A mass which has no velocity cannot ex-
ist. As motion emerges in one direction, whatever losing
and emerging frequency of space, and even whatever in how
many direction the force was applied, as a result of the ac-
tion, the resultant space force or mc momentum for a limited
and fixed speed since limited universe must have according to
work done, must be alone by an angle emerging between the
movement direction of the emerging mass and the opposite
space force.

Hence, it can be said, that an uncertain matter always does
a circular motion as there is no alternative. Already, for a
limited universe,speed can be counted as fixed; so for a fixed
speed, different mass magnitudes are only possible by a circu-
lar motion; because different masses means different displace-
ments, and so means different speeds. If radius increases, then
for the same velocity, mass decreases as detected mass in an
unit of volume will decrease. The actual reason of the cir-
cular motion is to be virtual part of matter; because anything
can neither be added in nor be detracted from infinity, as any-
thing is element of infinity. Thereupon, the angle which must
emerge between force and mass which is aimed to create also
emerges one by one. Force cannot be applied from random
points. It has to have an order since force and mass are to-
gether in F = —ma equation, and space emerges one by one
in a priority order. Mass can only emerge over space, by us-
ing space. Mass turns into space, space turns into mass as a
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result of the deceleration from infinite, as there cannot be an
absolute emptiness.

Emergence is directly depended on F = —-ma
equation; so space cannot apply force from ran-
dom points to form mass. Force is there where
mass exists, even if there will emerge an angle.

Inference

3.1.1 Resultant force

There are some different possible motion types which
have different 3D motion resultants. To determine which one
is possible, conservation of mass and energy must be used.

As it can be seen over the above stated conditions, if a
mass emerges in 3D, first of all, force and speed always must
be fixed as the result of finite work done to create universe.
A fixed force is applied, and then space gets shape in itself
somehow. Even if force changes over time, the rule will be
the same as each decrease interval will be assumed as fixed;
therefore the equation is always F = ma. If this is the con-
dition, then it can be said that motion can only emerge if
ds = dx + dy + dz equation is provided; because there is no
external mass. It is like it that mass itself creates itself; so
mc = myc + my,c + m;c equation is always provided. Here, the
three component always change; but sum of them is always
conserved; therefore the equation becomes Eq. (69),

(69)

where ds* = dx> + dy* + dz> and ds = dx + dy + dz.

There are five possibilities for motion’s emergence type
constantly or partially by some intervals as dx = dy = dz,
dx = dy, dx = dz and dy = dz or none of them. dx = dy =
dz equation is not possible when it is checked over Eq. (69).
For the others, if dx is taken from Eq. (69), and then if it
is put on its place on mass conservation equation which is
ds = dx + dy + dz, the equation becomes Eq. (69a).

dy-dz

ds=dy+dg— ————
§=ayraz 2(dy + dz)

(692)

Here, assume that it is ds> = dx” + dy? which is the projection
of the same ds during forming a sphere by ds* = dy* + dz°,
where dx = dz by the same angle vertically and horizon-
tally according to a fixed reference; then Eq. (69a) becomes
Eq. (69b).

dy? - dz?

d* =dy-dz+d7? - ———
o yrax+az 4(dy + dz)*

(69b)
Over Eq. (69b), it can be said that dx = dy and dx = dz are not
possible. For dy = dz equation, it becomes dx/dy = 33/16;
but if it is used on the main function Eq. (69), it seems that
even it is not possible as well; therefore there is only one pos-
sibility left that none of them emerges even for any interval of
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motion, and the components are always different. They never
intersect for any combination. Actually it is very compatible
for the theory; because it requires a constant energy increase
or decrease. As it was said while explaining dimensional den-
sity, nothing lived forever that it can be seen over mass density
in the same way with dimensional density; so even for after
the comma which means in small amounts, between two dif-
ferent times, there must be an evaporation or in the other name
vibration decrease.

As the relation of the components with ds separately and
relatively to @, over Eq. (69), it becomes Eq. (70),

2 tan(a)dx

dz=—-———""7"—
¢ 2 + tan(a@)

(70)

where dy = dxtan(a). If Eq. (70) is used on ds = dx+dy +dz

which is conservation of mass equation, the relation between

ds and dx becomes Eq. (70a),

2 tan(a
(@) ) (70a)

ds = dx(l + tan((l) - m

where dy = dxtan(@). By the same way, the relation between
ds and dy becomes Eq. (70b),

1 2
ds =dy| 1 - 70b
s y( - tan(a) 2+ tan(a)) (700)
where dz = —5 éiy(a). If dx and dy from Eq. (70a) and

Eq. (70b) are used on ds = dx + dy + dz equation, dz becomes
Eq. (70c),

1 1
dz=1-—— — 70
¢ M, M, (70¢)
_ 2 tan(a) _ 1 2
where M, =(1+tan(a)~ () ) and M> =(1+ fan(@ ~ 2+tan(@) )-

Hence even if an assumed point mass spins around a per-
fect sphere, it turns by different angles vertically and hori-
zontally according to a fixed reference. It requires differ-
ent speeds or fixed angle by fixed components. As different
speeds are not possible as there is only 1 work to create all the
universe, it means that there are fixed angles and fixed com-
ponents; so the equation becomes Eq. (71) over Eq. (69a),

2ds, cos(a) sin(a)
dz =

2 cos(a@) + sin(a) 70

where dx = ds, cos(a), dy = ds, sin(@), ds = dx + dy + dz,
and so dz = — ;;;:jzyy . As the equation is dz = ds, tan(a + 6),

Eq. (71) becomes Eq. (71a).

2 cos(a) sin(a)

tan(a +6) = - 2 cos(a@) + sin(a)

(71a)

Hence, the equation of the angles becomes Eq. (71b) over
Eq. (71a) in radiant,

2 cos(a) sin(a@) )

O=mn—a—t *1(—
@ tan 2 cos(a) + sin(a)

(71b)
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where n € Z. By the other solution for — cot(a +6) = m
1

@ which is derived over Eq. (71a), 8 becomes Eq. (71c¢) in
radiant,

+

—2csc(a) — sec(a)) 710)

0=rmn-a+ t"(
m—qa+ Co )

where n € Z, cot™! is the inverse cotangent function. For both
solutions, the angles are not variable as the angles must be
always fixed; so n integer is the same for both of them.

In the same manner, if Eq. (71) is puton ds = dx+dy+dz
equation which is conservation of mass equation, the equation
becomes

0= V1 +K?+ K - sin(a) — cos(a) (72)

where K = —5&(;&“7%, ds = \/ds3 +dz2, dx = ds cos(a)
and dy = ds; sin(@). The roots of Eq. (72) are as follows in

radiant,

a =2nn (72a)

1
a= E(47m +7) (72b)
@ =2 +2tan" ' (2) (72¢)

where n € Z. These roots cannot be equalized to each other
as the result shall be undefined.

Hence if there is a circular motion which closes a curve,
that does not mean draws a perfect circle, motion only can
emerge by this way as there is no alternative, and a space
wave is always perpendicular to emerging mass as resultant
mass or velocity always has two perpendicular components
according to a reference axis. It means, that force and ve-
locity are perpendicular to each other; because actually force
never changes. Force is applied to a part of absolute space,
and then space gets shape by emerging frequency, according
to work done. There is only 1 and the same work for the entire
universe. If force increases, it will be fixed at last, and then
frequency will increase. Moving thing is mass always; but as
force and mass are together, you can assume that force moved
as well.

If the roots are multiplied by each other, the angles be-
come as follows in radiant.

a=(4n+1)(2r’n* + 2x°ntan”" (2)) (73)
p=a+=m-tn (2 cos(a@) + sin(a)) 74)

All right; but here, as the parametric function of the mo-
tion, for # = @, @ has no integer solution but n = 0; so « is able
to get only both of Eq. (75a) and Eq. (75b) angles in radiant
over Eq. (72b) and Eq. (72c), and the angle becomes Eq. (75)
in radiant if they are multiplied by each other.

@ = rtan”'(2) (75)

a == (75a)

2
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@ =2tan"'(2)
For Eq. (75), 8 becomes Eq. (76) in radiant.

(75b)

2 cos(mtan~'(2)) sin(r tan~'(2)) )

2 cos(mrtan~!(2)) + sin(r tan~1(2))
(76)

6 = —mtan~'(2) — tan™! (

For these values, 8 = a + 6 becomes Eq. (77) in radiant.

2 cos(m tan~!(2)) sin(x tan~'(2))
2 cos(rrtan~1(2)) + sin(r tan~1(2))

B= —tan’l( ) (77)

As parametric equation of motion, it becomes Eq. (78),

x(t) = cos(a) cos(B),

y(t) = sin(a) cos(B), (78)
z(t) = sin(B).
where j—fz = cos(a), %’2 = sin(a), % = sin(B), % = cos(B)

and ds = 1 over Eq. (88).
Over the defined elements, presentation turns into Fig. 15.

Fig. 15: Limited presentation of mass emergence by the parametric
function.

It is a limited presentation, and actually it will be incredi-
bly denser. Its curve length will be millions of unit. I did not
use more sample to be more clear of it.

All right; but an angle cannot be uncertain; because un-
certain angle creates time and thus motion, mass and area be-
yond abstract mathematics as the end of the numbers after the
comma never will come. This already means that there is a
motion. I think according to the emerging frequency, there
is a sliding for each round according to a reference threshold
time. Even if it can be assumed that there did not emerge a
motion for this round because of the smallest time, also it can
be assumed that there is a motion. It cannot be ignored. Dur-
ing this sliding, the assumed fixed angle’s number after the
comma emerges [ think; so n will be very close number to 0
even if it is an uncertain number. Frequency will complete the
gap to 0; but first, we need the same frequency for to make n
0. After that we need the same frequency to turn it without
disrupting the angle; so wee need f2 frequency to create mat-
ter. For this small angle and so time, matter will be counted
as at two different places at the same time or will be counted
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as it did not moved as there will no time difference between
each round.

Also being n = t € Z and the angles are in radiant,
the parametric function can be determined over Eq. (70a),
Eq. (70b) and Eq. (70c) where ds = 1. There are always the
same angles; but even so, ¢ can be put instead of n where ¢ is
only integer; because even if a is not self inverse function, the
inverse function of @ can only change the appearance axis; so
it does not differ that inverse function is used or not. We can
analysis the shape or lengths over the main function as well.
As also it can be seen, difference frequency creates different
feature matter; so over t = @ =(4¢+ 1) (272 + 27*t tan™' (2)),
it becomes Eq. (79).

1 ‘
- - - 1) 79
@ 4(27r3t2 + 272 tan-(2) (79

Here, upper limit of  must be very big number.

3.1.2 Another way of presentation of mass emergence

If you assume that there is only 2D, then it becomes
R = \/x% + y%. If you add one dimension more, also it must
be equal to R = Vx? + z2 as one of the axis always appears
with the third one, where R is the resultant of 3D. As the re-
sult, if there is a circular motion or a motion closes a curve,
motion only can emerge by this way as there is no alternative,
and a space wave is always perpendicular to emerging mass
as resultant mass or velocity always has two perpendicular
component according to a reference axis. It means that force
and velocity are perpendicular to each other; because actually
force never changes. Force is applied to a part of absolute
space, and then space gets shape by emerging frequency, ac-
cording to work done. There is only 1 and the same work for
the entire universe. If force increases, it will be fixed at last,
and then frequency will increase. Moving thing is mass al-
ways; but as force and mass are together, you can assume that
force moved.

—

Fig. 16: Direction change graphic of the force applied, by the para-
metric curve of [sint, cost, sint, ¢, 0, 27]. Magnitude of the force
applied is the same at any point of the elips; so as force is applied by
the same intervals at a fixed speed, the changing thing is displace-
ment time around circumference of the elips.
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As there is a single work for the entire universe, and as the
work is done by the same force and fixed speed, either mass
must decrease and increase by the parameters as the angle
of the force application changes or displacement time must
change by a space tension; because for a fixed speed, also
acceleration is fixed. Acceleration and speed can be fixed as
a result of the movement has repeat but to be absolute.

As it was said, if there is a 3D motion, a point mass or
force turns around a 2D circle, and at the same time turns
around a sphere for the same speed; because if the resul-
tant of 3D is fixed for a circular motion, then if you as-
sume that there is only 2D, then it becomes R = /x2 + y2.
If you add one dimension more, also it must be equal to
R = Vx? + 72 as one of the axises always appears with the
third one, where R is the resultant of 3D. Already it can
be seen over \/F2sin’(@)+ F2cosX(a) + F2sin*(u) = F.
If u was a different angle like 6, the equation would be
sinz(a') +cos?(@) + sinz(é)) = 1, and @ directly becomes a for a
solution; and so the angles which emerge during 3D circular
motion in x, y plane way or in y, z plane way at the same time
where @ = nrr and n € Z, are always the same as it was said
before the above; but the problem is it that, it never closes a
curve. Even if it is not such that, it can be counted that a basic
mass particle visits any point of space to create at an incred-
ible frequency without turning back. It seems that there is a
flow, and emergence area and its bodies move through infinite
space.

There is no repeat which creates a closed curve.
Any matter does a semi-circular motion by hav-
ing different places over time. As a motionless
mass is not able to exist, also it is not able to
move in the same place.

Inference

Even so, it may be counted as it closes a curve because of
preservation of energy which is result of one-piece creation,
just for calculations by some transformations.

There are three possible 3D resultan equations as there is
no alternative for uncertain motions. One of them becomes
Eq. (80) over \/F2sin’(a) + F2cos2(a) + F2sin’(@) = F
equation.

1 = 2sin*(a) + cos*(a) (80)
There is a single root as follows,
@ =nn (80a)
where n € Z.
The other one becomes Eq. (81),
1= sinz(a) + cosz(a) + tan’(@) (81)
where dz = F tan(a) = F sin a. The roots are as follows,
a =nr (81a)
a=2nr+nm (81b)
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where n € Z.
Final one becomes Eq. (82).

1 = 2 cos*(a) + sin*(@) (82)
The roots are as follows,
1
a= 5 (27rn + 7r) (82a)
1
a= 5 (27m - JT) (82b)

where n € Z.

Now that, if the roots are equalized to each other, the n
values which render possible to emerge of a motion appear as
either -1 or O; namely n = —1 over nm = 2nwr + mor 2nm+mw =
%(27rn - 7r), and n = O over 2nmw + 1w = %(27rn + ﬂ) for all
possible defined combination, where n € Z; so the angle is
only able to become as follows.

(83)

NN

(84)

P(-x,-y,2)

Fig. 17: The resultants

It means that actually the 3D resultant is not at the same
area with dx and dy. For an assumed P(x,y, z) point of the
resultant, it actually appears at P(—x, —y, z) point for +dx and
+dy. This is very interesting.

As all emergence work is together and emerges one by
one, the emerging mass’s own space has to have the same
speed with the mass between [0, 1] second interval as an as-
sumed and detected constant speed because of limited cre-
ation. The speed always must be constant because of the in-
finite derivatives which are stated the above since only deter-
ministic image’s frequency will change, even it decrease in
time as each decrease interval is going to be the same again;
so, assume that the smallest point of the space has m; mass
and v fixed velocity for emerging m mass which has the same
v velocity.

*kavakmesut @outlook.com.tr
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Fig. 18: Force applied for a certain mass emergence

If there was no time difference between space collisions or
frictions, the resultant force on the mass would be zero, and
mass would go at infinite speed or would not move for any
magnitude force which creates speed of the mass, because of
emerging zero resistance of the space. There is a presenta-
tion of this event for 2D on Fig. 18, and vectors can be repli-
cated being each one has the same momentum. Motion al-
ways emerges in one direction as a resultant; because you can
assume that there are infinite numbers of forces which cause
motion in different directions; so as a resultant, motion only
emerges in one direction since there cannot be an absolute
zero resultant because of emerging infinite time differences;
so as a resultant, whatever the opposite space resistance direc-
tion, motion always emerges by an angle in a direction which
can be determined according to a reference that can be change
relatively, and Fig. 18 turns into for example Fig. 19.

w

Fig. 19: The resultant movement

If this is the condition, the equation of the motion emerges
as Eq. (85) or Eq. (86) for the same speeds,

v/ (mgv)? + (myv?) = mo (85)
my
"= sin(a) (86)

and it means, an uncertain matter always does a circular mo-
tion by this equation of a circle, and a space wave is always
perpendicular to emerging mass as resultant mass or veloc-
ity has two perpendicular x,y resultants always according to
a reference axis. It means that force and velocity are perpen-
dicular to each other; because actually the equation should be
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Vv? + 1?2 = p; but it is insoluble; because for the limited and
fixed speed which has to emerge for uncertain matter as there
is no alternative even if the speed decreases in time as each
time period will be assumed as fixed and average again, ve-
locity turns into latency and so into mass by friction or by a
small collision; so if a velocity emerges, it always perpendic-
ular to force or emerging mass at the same time.

To find out how the angle changes, you must use preserva-
tion of energy since all works can be done as much as energy
existence; so over Eq. (51), Eq. (86) turns into Eq. (87) for

1- z% = sin(a).
— il 1 v?
a = sin -2

Here v always takes values in [0, c] interval during 1 second
for the average velocity of c. As it can be seen over Eq. (87),
constant speed is not possible. When you detected a ¢ speed
magnitude in the equation, v from the same equation could
not be c¢ that actually it is ¢ since already this does an emer-
gence motion at the same space; but even before when you
determined any c value, it changes that it always changes in
any small time interval of any small time interval; so actually
Eq. (87) does not become unsolvable even for v = ¢ since sin-
gle ¢ value always changes as it is irrational. ¢ and ¢, emerge
as other variations of ¢ and you can use one of them instead
of vin Eq. (87). As the result, v*>/c? could be both (+) and (-)
being the number is very close to 0; so you can assume that
1 — (v*/c?) is nearly equal to 0 and the angle becomes near
zero; but as there is no other motion, being the second speed
v is nearly zero, the angle becomes nearly 90.

If you add one extra dimension more, it stars to draw
an helix according to the parametric equation of x = rcost,
y = rsint, z = ct for t € [0,2r), where r is the radius of the
helix and 2nc is a constant giving the vertical separation of
the helix’s loops. Drawing helix is an obligation as there is no
alternative, since m, is not absolute at the closest distance to
m. The angle always changes. Components which emerge for
X, Y,z axis are perpendicular again, and total resultant deter-
mines the way. During the process, space turns into mass, and
mass turns into space as waves over the infinite. Already, for a
limited universe velocity can be counted as fixed, and so for a
fixed speed different mass magnitudes are only possible with
a circular motion; because different masses means different
displacements and so different velocities. If radius increases,
then for the same velocity, mass decreases as detected mass in
an unit of volume is going to decrease.

(87)

3.1.3 Space tension requirement

Additionally, over ds as required by conservation of mass;
namely, the relation between @ and ds becomes Eq. (88) over
ds = dx+dy+dz when dx, dy and dz from Eq. (70a), Eq. (70b)
and Eq. (70c) are used on it,

ds=1 (88)
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where m = 1/v over it. Over Eq. (88), it becomes Eq. (89)
when ds = dx + dy + dz is used on Eq. (69) instead of 1.

1 1
—2dx(—+ d—) =dx+dy+dz (89)
Z

dy
If it is edited, it becomes Eq. (89a),
—2dx-dz-2dx-dy = dx-dy-dz+dy* - dz+dy - dz* (89a)

after that becomes Eq. (89b),

dyQQdx +dx-dz +dy-dz+dz?) = =2dx-dz  (89b)
after that becomes Eq. (89¢),
1 1 1 d dz
- Y& (89¢)
dy dz 2 2dx 2dx
If diz is added to both of the sides, it becomes Eq. (89d),
1 1 dy dz
— = - — 89d
2dx 2 2dx 2dx (89d)
where d%, + diz = —i over Eq. (69). If it is edited, it becomes
Eq. (89%).

ds=dx+dy+dz (89¢)

It means that proving is successful, and momentum is always
conserved; but if a mass moves on observational outer space,
its mass and total energy will increase even the formation
speed is still the same and fixed at that time; so multiplication
of mass and speed will not be the same for the fixed speed and
increased mass; therefore as total momentum of the universe
is always fixed, the universe is only able to allow to change
in mass by space tension. Space can be bended. Already for
m = 1/v equation, it can be said that emerging mass is very
small; but this mass is for 1 second. If the same work is done
for a small threshold time value, mass will increase incredibly.
As matter is slowing down from an infinite value as a part of
infinity, it can be said that absolutely at the beginning of time,
all the energy for 1 second must be stacked into the smallest
time as required by conservation of energy; so at that time,
frequency is 1/1> where ¢ is the smallest time as a threshold
time value. It requires also a space tension as there is no alter-
native. At the beginning, matter was scanning all the universe
by 1/#* frequency for a fixed speed. This is the explanation
of faster than light expansion. Hence, objects are able to go
faster than light if the space drawn is more than magnitude of
formation speed even if formation speed is fixed at that time.

An assumed mass particle which has m, mass as threshold
value forms m at a frequency; so over m = 1/v, it becomes
m,+ = m where x is distance taken and v is formation speed.

If both of the sides are multiplied by m, it becomes Eq. (90),
(90)

x = myv*

where m,"® = m*, mw* = E is total energy of m, for 1 second,

mv = 1 and m> = 1/v*>. This ratio and equation are always
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fixed; but if it is not a perfect circle, only values changes. As
required by conservation of energy, at the beginning of time,
all the energy which will emerge after the smallest time during
1 second must exist at the smallest time potentially; so square
of the frequency is only used for the beginning of time, and it
turns into Eq. (91).

X =v\mp

If the equation is mv = 1, then it means work done equa-
tion turns into Eq. (92),

oD

v
F=-—
X

92)
where Fx = mv? and mv = 1. As it can be seen force is
equal to frequency. It means that, force is application repeat.
If this is the condition, it is interesting and actually is very
compatible for conservation of energy, that even if a particle’s
mass is interpretable as m = m, f where m is particle mass, m,
the basic mass and f is the frequency of the basic mass, this
cannot emerge by this way. The basic mass is not free such
that. For the same assumed basic formation mass particle, the
equation becomes Eq. (93),

a=v (93)
where m,v* = m,ax and x = vt for t = 1 second; but for the

particles which the basic mass particle forms them, it turns
into Eq. (94),

a=—
m;

(94)

where m is the formed mass by the assumed basic mass par-
ticle, mv?* = m,ax and x = vt for t = 1 second. It means that
the basic mass gains more acceleration while forming parti-
cle. It does not repeat the same motion more in a limited area
by the same acceleration to create a mass by creating more
mass density in an unit of volume for changing radius at fixed
speed. In the exact opposite, the basic mass which actually
is named as photon is formed by a bigger acceleration, and
is seen as particle. For these information, it can be said, that
Planck time is not enough. There must be other smaller times
which are in a big range due to mass scatter. Until it becomes
t. < t, for the same mass, where ¢, is creation time and ¢, is
evaporation time, any time and any magnitude mass can be
created, and they can behave like any particle.

Hence matter is always together with a space tension for
any size motion, and speed can be independent of distance as
it is relative. It means that matter is already in a jumping sta-
tus. For a fixed speed, more distance can be taken by space
tension by more energy or actually by more repeat as required
by mv = 1 and to be frequency of force. This is only possible
by an absolute space. When absolute space is be deformed,
energy and frequency emerge until to be fixed. To produce
more energy, just you need to deform more space by a big-
ger volume; so even if the emerging energy is dependent of
the force applied application speed, also is depended on how
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much space is used in volume. The same energy can be pro-
duced since work done is equal to kinetic energy by fast force
application for a smaller space part or more space using in-
stead of it by a smaller speed. The distance taken during these
two different works can be the same even if the speed is dif-
ferent.

Already as required by m = %, if speed increases then
mass decreases. This seems as paradox but it is not; because
more speed is only possible in the smaller periods of time
because of deceleration, and also the density of emerging uni-
verse will decrease for higher speeds because of bigger cen-
trifugal force thus volume that it causes smaller mass mag-
nitude for the same radius; so instead of using high speed,
more space from absolute space can be used to create bigger
universe.

3.1.4 Expansion of universe

Handle L as distance taken which a gravitational F force
can pull back an accelerated mass and lower its speed in the
smallest 7 time as threshold time value. For FgL = ”"t”z where
v is formation speed and mass is m = = being m;, is threshold

mass value, it becomes Eq. (95).

Fglz

v

my (Kg) (95)
The mass is m = “¢; because all energy that universe has for
1 second must exist for the smallest time in the beginning of
time potentially. All the formed energy during this 1 second

could be stacked into this small time. Over Eq. (95),

o mo
r= Fo (s)

(96)

The smallest length for this time becomes Eq. (97).
PO L 97
=\ Fe (m o7

The mass stated the above as Eq. (95) is the mass which does
not let light off in the smallest threshold time. This mass then
has m = F—v" (Kgs) mass magnitude as it completes its motion
for 1 second for the same radius. The force caused by the
centrifugal acceleration emerging due to this mass becomes
F¢ for the radius of r = L/C where L is Eq. (97) and C is a
multiplier according to the circumference of the closed curve
since the smallest distance is this over Cr. The distance taken
is x = a = ¢*/r where c is the light speed for 1 second; so let
the distance taken to be ac as centrifugal force acceleration
and is also radius of the emerging universe without particle. A
strong vacuum area emerges due to this force. Universe uses
its own heat to work; thus also it loses heat during this work
as well; thus space is always cold. As the light velocity made
universe stable, it performs only the act of emergence, and the
universe does not expand after the expansion for 1 second.
As all actions can be performed as much as total energy of
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universe or used matter, based on the action performed in the
direction of centrifugal acceleration, the mass emerging as a
result of this action performed becomes Eq. (98),

Fcac
2

(Kgs) (98)

my =

where v is formation speed. The density of the universe also
becomes Eq. (99),

Fca

dy =
v VUU

= (Kgs/m’)

99)

where Vi volume of the universe; but the universe can only
possess this density when all of the particles of the universe
evaporated. As matter emerges over absolute space by infinite
time differences, if it draws extra space during emergence as
emergence and outer space motion are accepted together, it
can go faster than formation speed relatively even if the speed
is still fixed at that time. This is caused by space tension. The
universe was able to expand faster than light for 1 second at
the beginning of time by this way. All possible distances were
taken in the smallest time and in the smallest singularity point
as a reference.

As it can be seen, the universe has a center and the
thing which seems as expanding is caused by the photons
which create particles, and also by evaporation as the uni-
verse emerges due to centrifugal force as radius will change
by evaporation in the other name vibration stop because of
frictions with space since particles have no external energy.
During the expansion, a potential difference can emerge along
the space which are along the direction of centrifugal accel-
eration because of the initial movement, and masses move
by photons’ momentum because of emerging photon friction
with space. Matters’ own creation motion which is momen-
tum in the other name causes outer space movement by fric-
tion. Also this is gravity. Spooky action at a distance of Ein-
stein [3] may also be caused by superposition of the universe
which is because of 1/£* frequency. As it does not differ for
universe that is it a particle, the universe can touch all of them
at the same time from the furthest existent distance.

A space contraction may be seen at some points of space
because of the mass scatter as the universe emerges by cen-
trifugal force. These points are denser. If we look at the in-
formation, it can be said that the waves intertwined together
and they formed the subatomic particles, and then hydrogen
by an ignored time difference; thus diffuse of particles is not
so hard in the universe in 1 second. All of the work is to-
gether and is in 1 second. If many masses cross on the same
point at the same time then space must be collapsed and then
it must be swollen; thus new types of elements may be done
by photon-photon collisions, and they don’t have to be like in
our scientific knowledge. Supercomputers will be saver to do
1t.
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3.1.5 Length contraction

As matter can only exist as a density, if formation volume
moves that means if mass moves, the existence increases in
an unit of time, and it reduces the deviation for each round of
creation motion during outer space motion of mass. Space
object experiences constant potential difference during for-
mation because of the time differences. When wave starts
to move in one direction, the formed place of the wave goes
to disappearance. At this time, the wave moves to the newly
formed space. Namely matter does not wait for to be created.
Instead of it, it moves by drawing more space. It is called
as Lorentz contraction [4] or length contraction. The length
contraction can only occur in one direction because of the re-
sultant direction of movement since this is the nature of all
motions.

For a static object namely for an object which has no ob-
servational outer space motion and has my mass magnitude,
the length contraction becomes Eq. (100).

1)2
L=L0 l—g

Eq. (100) for the objects which had been accelerated, and are
moving at a speed of v. For acceleration work, Eq. (100) turns
into [ L d, where v = ft/my.

If acceleration work is done by ¢ < ft/mg where c is the
light speed, the method which was derived as Eq. (53) and
Eq. (54) are used for [ L d,.

(100)
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Fig. 20: Mass, length contraction and speed changing graphic from
m=motom=2my,and L =Lyto L = Ly/2

These information contradict with Michelson-Morley ex-
periment [5] in entanglement as the result of the decelera-
tion from infinity since there cannot be an absolute emptiness
without motion and energy; because speed of light is creation
speed, and it is constant due to limited universe; so it is inde-
pendent of ether, free space for the status of this experiment.
This case is the same for any moving matter in any density.
The rays of moving objects are at a constant speed, only their
energies are vary. They lose mass instead of change in speed.
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3.2 Gravity

As there is no mass without motion, for a constant speed
which is the result of a limited work done for a limited uni-
verse, certainly mass moves on outer space when it is in a
different density space. This motion emerges because of cen-
trifugal force which is the result of a cosmic forcing as a result
of constant speed work.

We know that denser objects move towards gravity in a
smaller density; but what is the actual reason of this move-
ment when we think gravity itself on free space. Think that
there are 3 rest mass which emerge suddenly and have the
same mass magnitude at different distances relatively to each
other. When a point mass which creates them by a circular
motion emerged, the space which they emerged over it be-
comes denser because of the movement and the other masses;
because as there is no mass without area force, any mass can
only be counted as a density; so one of them is counted as it
is at the other’s space with changing magnitudes by distance.
For a fixed speed, if a fixed magnitude assumed basic mass
particle as a threshold value passes this space, the velocity it
has must decrease and mass it has increase since it has a lim-
ited energy as required by conservation of energy and so by
conservation of momentum; but as no part of the universe can
be independent of the work done of the universe, the mass
must get a fixed velocity, and for this condition, velocity can-
not decrease; so only mass increases. It means that, at that
point which the point mass exists, the density will increase
naturally, and this increase can only be by a particle radius
decrease. When the point mass increases by starting emer-
gence at a frequency in a closed area which is the formed par-
ticle’s volume on the denser space, emerging centrifugal force
of the mass which the point mass creates it increases; so when
the masses emerge at difference distances relatively to each
other by the same magnitude, if the other two mass’s den-
sity on the other one becomes maximum, the other one moves
into the denser space way by emerging centrifugal force as
this force will increase because of increasing mass during the
point mass is passing over denser area.

When the fixed point mass enters a denser area, actually
it is waited for that a repulsion must emerge; but it cannot
emerge; because space and wave are not independent of each
other. Space turns into particle by wave, and particle turns
into space in time constantly at a frequency; so for a fixed
speed it is always forced to emerge as denser.

Right this point a question emerges that is length con-
traction effective in formation of atom? As the fixed ob-
jects in a gravitational field can be assumed as doing constant
speed movement, they must experience a length contraction;
so maybe because of the small distances in atom, some tempo-
rary particle densities may emerge and emerging centrifugal
force of sub-atomic particles may cause different behaviours
as a result of length contraction since the shape of the particle
will change.

Energy transformations cannot be independent on the
equation stated the above as Eq. (51); so, as mass of mov-
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ing object increases, if a mass moves, then the upper limit of
mass focus is as much as all mass of the universe; therefore
during a gravitational attraction, also the upper limit is total
mass of the universe as universe can do work as much as its
total energy.

As required by uncertainty, there cannot be an absolute
threshold value; so gravity is able to affect from existent the
furthest distance at formation speed. If escape velocity is
taken, it becomes Eq. (101) over Fx — fOX %dx = mv?.

Fx

m71_ r(x+r)

myGx
V=

(101)
The result becomes 0 if both of the sides are squared, and
myv? is put instead of Fx. The reason is conservation of en-
ergy and entanglement which means emerging with time dif-
ferences. When the action is divided constantly forever by the
parts which are equal to each other, the action performed by
gravitation closes to all of the actions performed against grav-
itation, and this is an evidence for single factor of creation
which is gravity. Escape velocity for the land vehicles moving
on surface can be calculated with the required setting, f being
gravitational force, based on mvt/r = f. A constant state of
performing action is required to conserve the velocity; other-
wise, the accelerated mass first slows down and comes back
even from the existent furthermost distant. Mass and weight
are the same thing. Matter has no absolute mass potential in-
dependent of gravity.

To be freed of gravitational field or escaping it is
not possible.

Inference

The situation changes only when entered into the another
gravitational field which will balance or defeat this situation,
and an action is performed against the first field temporarily;
thus a fixed orbital is not possible. Even if masses, attraction
and thus motion are reciprocal, objects get closer to heavier
masses around which they rotate, first move away and after
get closer or move away because of outer gravitational effects.

3.2.1 Conservation of momentum

If non-flexible collisions are handled, for two objects
which move towards each other at light speed, (102) can be
written after the collision.

(102)

Here, if it becomes m; > my, then the motion is going to be
in + direction; otherwise it is going to be in - direction. For
m; = my, NO motion can occur.

Gravity also moves as waves at light speed like all the
other things, that can cause spiral build of galaxies because of
emerging latency; because when a mass is created, its mass ef-
fect due to distance is only able to emerge according to limited
total energy over time. Masses realize this by changing den-
sity of space; therefore even if we do not know which function

mic — mycC = mc
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does gravity work over it, by indirect calculations and by us-
ing similar functions to the main unknown function that have
the same basic logic, for analyzing the condition, (103) can

be written.
3 (m1 m2)
m=— - —
3 3
47\ ry r

Here, for m; = my, if it becomes r; > r,, the motion emerges
in - direction; otherwise it emerges in + direction. For r| = r;,
no motion can emerge. For different mass magnitudes, also
there exist similar points which motion cannot emerge there.
If a third object takes place in here, it does not move; therefore
it can be said, that matter is not able to be compressed oneself
forever; because there is going to be always an interval at a
distance.

Emergence of gravitational motion in this way, is related
with space tension. As it was said before, matter is wave
which emerges over space by using space. Also creation mo-
tion and outer space observational motion are accepted to-
gether, and use the same space at the same time; so in chang-
ing space densities, direction of the force which is applied to
create mass can change, and actually by this way, spin of the
mass which the force is applied to create it, can be counted as
rotated. Mass moves in the movement direction of the wave
has bigger mass magnitude by this way.

Over these information, it can be said, that matter always
wants to move from denser space to lower density space; be-
cause at that time, space had been stretched enough, and thus
the wave wants to be distributed on lower density space by
filling it. As it was said before, matter always wants to be
more ordered. Already the work which is done to create mat-
ter and brings total energy out for it, is repeated in each small
period of each small period of time by forcing, and is done
against this resistance as well.

The points which cause the biggest displacements are cen-
ters of gravity of heavenly bodies; because if attraction be-
tween two masses is handled, changing density over distance
of one of them on the other one gets the smallest value at the
center of gravity of the other one for the longest r; therefore,
when gotten closer to the point which does not cause motion,
emerging attraction and thus motion get smaller, gotten closer
to mass repulsion.

Gravitational collisions are counted as flexible collisions
when the time differences are ignored; because the equality
becomes mjv; = myv;; therefore, even if different mass mag-
nitudes gain different velocity and acceleration values by the
same force, they have the same momentum; thus there does
not occur motion after a collision.

As changing densities cause attraction, also cause a mass
repulsion.

Over Figure 21, it is not so hard to see the mass repul-
sion when it becomes d; > d>. When the environment be-
tween the two objects becomes denser, the space lapses into
the both d, density space; thus the objects which are created
over this space also move away from each other on this slid-

(103)
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Fig. 21: Repulsion

ing space, together with the space. Third or more object can
affect the conditions. Sometimes attraction and sometimes re-
pulsion can be detected between objects.

Again, over the similar functions to the actual function,
for the objects which are going to push each other, both °3 >

"¢ and 7% > "} inequalities must be provided at the same

3
2 L
time; therefore

m_ (104)
my

two objects which provide this (104) values always push each
other whatever the r distance between them; so it can be said,
that for example two objects which have the same density al-
ways push each other like proton-proton. This is pretty natu-
ral; because if a gravitational wave is able to be distributed on
deep space over time, it means the outer space density which
is smaller than the wave density allows this; so sometimes
density of the space between two objects can be assumed as
an anomaly since is intersection point of the waves, as higher
density; but emergence priority can affect the condition; be-
cause a while proton has a mass magnitude, another proton at
the other side of the universe can exist in another mass magni-
tude, that actually both of them have the same mass magnitude
for 1 second. In the same manner, different mass magnitudes
for 1 second also are able to push each other because of the
time differences or emergence priority. They do not have to
exist in far places according to each other. Even they can ex-
ist in an atom together that you can count some of them as
antimatter.

Over these information, it can be said, that there is always
a repulsion between objects even if it may smaller than at-
traction; because, as it was said, different masses gain mass
by having different acceleration values of assumed the same
basic creative wave; thus different two masses get closer to
each other in mass magnitude for different times. This condi-
tion always repeats itself at a frequency each second; so it can
be said, that there is always an interval at a distance between
objects.

For the actual function of (104), it can be said, that the
repulsion can be effective on inflation of red giants. Maybe
central density causes a repulsion; but if the objects which are
too dense and push each other, are formed by more than 1
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particle, each particle can be attracted even if the calculation
requires repulsion; because there is no absolute bond between
particles, and thus total mass density may not behave as one-
piece. After a particle flow from one of them to the other
one, an attraction may be detected. This is also dependent of
initial velocities of heavenly bodies in free space. This can be
effective in atom as well.

A side effect can cause repulsion, that if a wave which has
high enough amplitude is able to push objects. If you pull a
tablecloth off from a table fast enough, the goods on the table
almost will not move; because required time for emergence
of frictional force will not be provided. Almost there will no
time interval for the work done by the friction. In the same
manner, high amplitude wave may also be repulsive even dur-
ing its movement in the direction of lower density space. As
to be one of them before or after of the same Ft work as —F¢
and +Ft will cause displacement on space, even if energy and
momentum are still conserved at that time, the wave may af-
fect the behaviour of gravitational motions due to character-
istic constants of free space. Even it is possible for a single
wave which is not in an interaction with other waves, that at
that time space becomes like it got a slit.

Matter is able to be polarized by these ways. Waves can
boost each other; so if we align atoms side by side, and then
if we can rotate their spins by an external effect, then while
one side is becoming denser and denser, the other side will be
lower density space; but does photon moves in newly emerg-
ing or old space direction, since in the both condition, there
will emerge the density difference? Maybe it can moves in the
both directions as well when a condition is provided. Maybe
even it is able to move in the both directions at the same time.

As matter moves from denser space to lower density
space, and as gravitational wave must emerge in all directions,
then if photon can move freely in space, then free space is the
main and natural lower density space; so if we can make a
higher vacuum tube, then light can be distributed on space
faster than light even if the light speed is still the same at that
time, by space tension. You will spend an energy to vacuum
the tube for only one time; but even so the vacuum will work
each second; so at the end of the tube, generated heat on a
plate will be more than total energy of the light before enter-
ing the tube. Vacuum is also effective in electricity flow.

3.2.2 Wave monster

There are a few parts of some gravitational waves which
are emitted by m; and m, masses placed at B and D points
in Figure 22. The attraction emerges at A; and A, points for
this 2 dimensional wave section; therefore over the equality
of myc - cos(a) — mpc - cos(B) = mc, it becomes (105),

<mar1 mm).
"= ki ky /

(105)

r r

where cos(a) = 171 cos(B) = 172 ki = A\B, ky = A\D, ry =
1 2

BC, r, = CD, m, and m,, are reduced mass magnitudes at
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Fig. 22: Gravitational waves

k; and k, distances, j is a constant provides average particle
collision amounts of waves since the smallest space parts can
collide by different angles or do not collide that can change
due to formation speed of light and can take 1 value, smaller
or greater values than 1 but 0.

Assume, that 0 dimensional densities of m; and m, over
3 dimensional densities are m, = Vd,/k; and m, = Vd,/k»
where +v/d, is 1 dimensional density over 3 dimensional d,,
density for k; and k; lengths. For total m in 3D, over 2whm,
(105) turns into (106),

2 2
Am=<"1i/671 k%—%—r23d2 k%_,%)Z”j (106)
1 2

where h = \/kf -r} = \/k§ — r3. This is for a single wave.

There are L =

o v times waves radiated from one of them,
where 4 = ctp = ¢ that is always fixed even if gravitational
force changes according to speed in free space of objects even
for fixed r length and is important for sub-atomic particles as
the lengths are very small relatively to extreme speeds there,
and # from (38). For the distance r between the objects, there
are always % times waves; so when the attraction is analyzed,
a gravitational latency will appear; because mass effect of =
pieces waves starts to affect each second after /¢ second; but
this actually interests the first expansion of the universe; so
if the universe is big enough, still there will be some masses
which have not been affected each other.

When the waves intersected, a motion emerges in space;
but waves get bigger forever by having bigger radius; so in-
teraction will be still continuing. Right this point, an interest-
ing phenomenon appears, that at the middle distance of two
masses, any waves radiated at the same time from both of the
masses are collected; because over k7 — r = k3 — r3, the same
radius waves can only affect from /2 point during infinite pe-
riods of increasing radius, since A; and A, will be fixed at the
middle for these.

This monster may be effective about half-life period of
radioactive elements; because actually there is a time differ-
ence between A; and Aj;; thus actually there is a gravitational
torque along with gravitation as the objects are going to turn
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around each other; so maybe when accumulated waves reach
enough attraction, as also centrifugal force will increase, neu-
tron may leave atom.

Additionally, how we can draw the wave pattern of free
space even if it would change according to mass scatter for
changing densities?

3.3 Vibration stopper and reducer densities in space

Matter is able to work as much as its total energy as to-
tal energy means existence; so even if emergence space it-
self would not lose its energy until the day which the forcing
which is done to create emergence area will be removed, par-
ticles which emerge over this space have to lose energy; be-
cause actually there is no difference between space and parti-
cles. Mass is denser space point, and as it has a second poten-
tial which is actually entire emergence area has it, it cannot
exist forever. The work, which is done to create matter is only
done to create free space.

Hence, as denser space will be stopper for a limited speed,
for an object which cannot have another high or low speed
will experience a friction with space. Even if there was only
1 particle which has no sub particles in space, it would ex-
perience friction with space as there cannot be an absolute
zero resistance which causes infinite speed for any magnitude
force. This cause energy loss as particles have no external
energy that as it was said, the work which is done to create
matter is only done to create free space. Matter is like a side
effect as temporary like a drop of glue which could not be
controlled.

3.3.1 Event horizon

The most extreme densities of the universe are black
holes. There is a limit to be a black hole, and after this limit,
if it is not asked black hole’s life time, any size black hole can
emerge for any radius. In a black hole, event horizon’s length
becomes Eq. (107) over Eq. (107a) for the work done which
is equal to photon’s total energy,

2.2
r,c
X =

R — 107

mG — rpc? (107)
where h is Planck constant, f is frequency of photon, m;, is
black hole mass, r, is the black hole’s planetary radius.

* (hf |ImyG
————d,=h 107
When event horizon length x becomes 0 on Eq. (107a),

the result becomes Schwarzschild radius as Eq. (108) over
Eq. (108a), with zero event horizon length,

mbG

ry = — (108)
C

X mbG
—d, =1
0 czrb

where [ d, = ry.

(108a)
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Thereupon it verifies the kinetic energy correction which was
explained the above. For motions, because of the creation at
the fixed light speed, it can be said that light speed is the high-
est speed, and the lower is not possible as well. Observational
outer space motion and formation motion which is the result
of repeated emergence are always together. There is only 1
movement. Matter uses the same space at the same time for
any act. The condition does not allow kinetic energy to be
like w = f(f v d; because change amount of a mass at low
speeds can be assumed as zero, and the speed always must be
fixed and be the light speed; so these two conditions do not al-
low for integration separately, even if actually they are natural
results for each other.

There is one more a kind of black hole that here, gravita-
tional acceleration of ”;G is equal to the formation speed of c.
Over this equation, the black hole’s radius becomes

c

r= (109)
Photon loses its energy at the end of 1 second; but this loss
does not emerge suddenly.

When Eq. (108) is used on Eq. (107), then event horizon
becomes infinite; but if Eq. (109) is used on Eq. (107), then
an event horizon occurs, and it becomes Eq. (110). It starts to
influence from planetary surface.

mcG
mG — Vmc3G

Also because of muv?/r centrifugal force which is gotten by
orbital objects light is included as well, escaping is possible
even there will be a deformation amount in the escape time;
because an uncertainty of the force line condition will emerge
as gravity is calculated from center of masses even for plan-
etary surface of black holes. Repulsion distance which is a
result of centrifugal force becomes Eq. (111) over Eq. (111a).

(110)

X =

111
2 . (111)
where r is Eq. (109) and x is Eq. (107). The equation must
always be provided at least for v = ¢ equation.

2

muv mmpG

> — 111a

r+x_ (r+x)7? ( )
This is an absolute mass repulsion even for light like a hy-
perbolic perfect mirror. For different x values which are not
related with event horizon between [0, x] interval, the repul-
sion can be detected within different times.

3.3.2 Visible light loss

Visible light loses its energy in gravitational field, actu-
ally other photons are included as well; so a dim occurs for
an observational reference distance. If the same energy visi-
ble lights suddenly emerge near a planet at the same time, the
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closer one’s loss amount will be more than the further emerg-
ing one for the same time; so even if we cannot know all the
moves of the universe to determine a certain visible light event
horizon, if it is assumed that they started from that place, it
becomes Eq. (112) over Eq. (112a).

(vl - vz) (r3 —(r— ct)3)c4

=
3fim3G?

(112)

It is solved by solving equation. It is a fall from v; frequency

to v;.
/Lt h(vi =) (r — x)*c*

hvlmng

d =1 (112a)

0

Over Eq. (112), the visible light event horizon becomes
Eq. (112b).

X=r—ct

(112b)

where c is the light speed, and r is the distance from the center
of the planet that black holes are included as well.

3.4 Conservation of information

An emptiness because of the reason of absolute energy
deficiency is not possible as the reason of deceleration from
an absolute energy; thus space allows matter to move and thus
emerge at every point of space. This means that all emerging
masses are a single mass. When turned back to the beginning
of time, then it becomes more understandable; because as it
can be seen, there is an emergence by turns, and is a single
work. This condition brings about emergence motion around
matter itself as required by the single universe mass; but also
brings about a perfect entanglement as relativity warned by
the reason of masses in an infinite number. Also it can be
assumed that, there are infinite numbers of masses instead of
single mass by having the same time difference again.

Work can only be done in a time interval by the reason
of uncertainty; thus a work is always done against a resis-
tance for any magnitude energy, absolute energy is included
as well; so heat and heat differences which emerge because
of the work done in a time interval by latency are always to-
gether with work. Hence it can be said that there is no kind
of energy which cannot turn into mechanical energy as any
energy has mass magnitude by E/c* (Kgs) mass. If this is the
condition, then universe must be the heat which is equal to its
total energy, and the heat becomes more certain or uncertain
according to the works which are done by using from total
energy of the universe.

Emergence velocity must be limited even if the light speed
has the general magnitude is not an emergence speed because
of the limited uncertain universe, and it must be fixed at last;
thus total of the universe cannot be unstable and cannot have
an amount of disorder for its total energy and total mass; be-
cause nothing is able to be lost from the total energy of the
universe. The things which are unstable are masses at focal
points of universe; thus universe can turn into a swimming
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pool without any wave because of lose in mass, namely parti-
cle loss in the focal points of universe.

An absolute action threshold value for any action per-
formed in works is not possible because of the one by one
emergence as required by uncertainty since uncertainty is only
able to exist by increasing or decreasing between absolute-
ness and absolute absence but its loss. This means, that also
each existent mass particle has infinite number of mass par-
ticles; thus two different masses never intersect at the same
mass magnitude at the same time. This means, that it is not
possible a flexible collision in universe, and information is
conserved forever as any mutual vector annihilation will not
occur. Even the existent smallest influence is going to affect
the existent biggest mass potential instantly, and make it move
for any long distance, if it is used.

Flexible collision is not possible in universe; in
this way, information is conserved forever. There
cannot be an action which is not in accordance
with this.

Inference

If it was not such that, it would be meaningless to talk
about conservation of information; because by an absolute
existence, an absolute destruction would emerge. Absolute
threshold values would change the course of events, and there
would be left only information of strong. At the end, would
be left the information of the strongest.

Existence of flexible collisions is only assumed as the
amount is too small. Information gets smaller forever; but it
never gets lost. As to be absolute afterwards is not possible as
a result of the requirement of a timeless worker before which
was told about it the above, also it is not possible to be lost
because of the requirement of to be informed by the infinite,
since anything is already element of infinity.

Information and matter must have the same building
blocks as the requirement of to be information is having en-
ergy. All of information must be at the same place because
of the entanglement. Because of the requirement of being de-
celerated from the infinite, matter must exist as spatial waves
over the infinite as it is temporary and thus as it cannot have an
absolute part. Recovery of information is possible for any in-
formation type; but during the process, the information which
is searched for and any information become the same at a
point relatively for us but not for the infinite.

As heat is single, also speed is single for matter because
of uncertainty and entanglement. Matter has been doing the
same motion for the visible outer space motion which is dif-
ferent than the creation and the creation motion; so these two
motions are accepted and emerge together; so it can be said
that outer space and creation motions are accepted and emerge
together, and matter uses the same space during any act. Also
during motions, because of the creation at fixed light speed, it
can be said, that light speed is the highest speed, and the lower
is not possible as well. The condition does not allow kinetic
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energy to be like Eq. (113).

U
w:/vdmv
0

It is such that; because the change amount of a mass at low
speeds can be assumed as zero, and already the speed al-
ways must be fixed, and must become light speed; thus these
two conditions do not allow for integration separately, even if
actually they are natural results for each other. On the mo-
mentum equation stated the above, kinetic energy must be
Fx = mu? for x = vt. It is not different than a simple multipli-
cation. The requirement for “5- is the same force magnitude
even in the smaller periods of time. Namely, the first and the

assumed infinite small work must be % = . The second

Fr _ (mo+2mg)vs

(113)

work which is the closest to the first one is p
as magnitudes of masses increase as much as used reference
time but the smallest slice of time being the same. If the fi-
nal velocity vy is taken from the equation for the other works,
then it will be Eq. (114).

FEy (114)
— mon(n +1)
As the equation is > 7| n(n+]) = 1, it turns into Eq. (115).

mov

Ft=— 115
: (115)

Thereupon it will be Eq. (116),

2
Fx="" (116)
2

where v = 2£L F = ";f, and since work done is Fx =
(mv/2t)(2Ft2/m) Fr, for Ft = 7. It is kinetic energy as

work done is equal to kinetic energy Also equation F = ma
must be F' = " for the same rule. This condition is only pos-
sible for a single condition, if work done always has the same
magnitude even for the smaller periods of time. There is no
formulaic qualify.

4 Mathematics
I published some of them before; but I noticed that there

are some serious logic voids to explain the main subjects; so
as I made some corrections and changing for some of them,
also I added some new information and findings.

4.1 Prime numbers and P=NP problem

4.1.1 Multiplicity of prime numbers, and Floor function

All prime numbers except 2 are odd whole num-
ber which have no positive divisors other than 1
and itself.

Argument 1

28

All of odd numbers which are not prime numbers are num-
bers which have at least two multipliers whether are primes
or not, and multiplication in a way dependent of f(x,y) =
(2x + 1)(2y + 1) function whose variants are within the range
of [1, c0). If it is required to organize and demonstrate it in a
table, the table would be Table 1.

Table 1: Non-prime odd numbers

f(n) ‘ 6n+3 ‘ 10n+5 ‘ 14n+7 ‘ 18n+9

|
6n+3 | 3x3 | 5x3 | 7x3 | 9x3 |
10n+5 | 3x5 | 5x5 | 7x5 | 9x5 |
14n+7 | 3x7 | 5x7 | 7x7 | 9x7 |
18n+9 | 3x9 | 5x9 | 7x9 | 9x9 |

There are the same rules vertically and horizontally. Each
number in the table least has 1 odd whole number divisor; so
the odd whole numbers which are not included in here, are
only prime numbers.

If prime numbers were finite, over Eq. (117),

SS(amvas-l) @
pur i Cx+1DR2y+1)
the result of the total operation of Eq. (117a)
- 117
> Zy 1 (1172)

y=1

would equal to O for each y value, where assuming 2x + 1 =
2x+ 12y + 1) and (2x + 1)(2y + 1) are non-prime odd num-
bers; however this operation never converges, and each result
is different; so it can be maintained as

Prime numbers are infinitely many numbers to-
gether with the odd numbers which can be di-
vided by another odd number.

Proposition 1

Now that, prime numbers are infinitely many
numbers; so number of prime numbers for any
range determined, which odd whole number is
the prime number has n order number, prime fac-
tors of any number determined and its multipliers
or number of prime factors, and which odd whole
numbers these multipliers are, can be found out.

Argument 2

All positive whole numbers are between (2n+ 1)? and 2n+
3)? according to Table 1; because if a number is given and
finding out which column is the last column it exists is waited
for, as columns change by this rule, also it can be said, that
Table 1 starts from perfect square belt. This belt is a reference
for elimination; so for b = [1, c0), perfect square of each a =
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2b—1 positive odd whole number is a®> = 1+4b(b—1). To find
out given number is which number’s perfect square for floor
value of the square root of the given number, it is required
to create a function which rounds down any fractional part
to whole value. For any x/y operation based on the simple
division rule of yn + m = x where r = x — yn — m, Eq. (118)
can be used.

S S - ()
Lx/y) = — (118)
=2 (L)

where v is the given number, and r = v — 1 —4n(n — 1) — m,
and also the upper limit can be (x —y)? instead of infinite. The
result is a s number, and it provides the maximum number
of columns which will be studied for the number determined.
Here, result of 25+ 1 operation is the basic odd number which
forms the last column.

When each 2n + 1 number is used to divide the
given number v for n = [1, s] interval, where s is
the result of the perfect square elimination over
Eq. (118), it is enough to check v is prime or not;
so to check a positive odd number is prime or not,
s pieces operation will be enough.

Argument 2.1

If both of the first multipliers of the given number were
in the last column, where s is total column number or order
number, then the given number only would able to be (25 +
1)>. This condition is only possible, if number determined
is a perfect square. If the first two multipliers were in any
column or columns after the last column, then the smallest
number which can be emerge would be (25 + 2)?. This is a
bigger number than the number determined itself; so at least
one of the multipliers are only in the column number s or in
the columns before the column number s.

4.1.2 Primality test for input number

As it is not suitable to check whether an even number is
prime or not, a mathematical interpretation can be done to
check v positive odd whole number is prime or not. When it
becomes d = 0 for d = v— ((Za + 1)(|_2a”+l )) whole value
element, 2a + 1 positive odd whole number is aliquot divisor
of v positive odd whole number; so v is not prime. In other
conditions, it is not prime, and when 2a + 1 divisor is tested
within a = [1, s] range, v is prime if the status of d > 1 is
conserved; so Eq. (119)

(1 + (=12

fo =3 ——

a=1

(119)

operation provides v number if v number is prime. Otherwise
the result is 0.
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4.1.3 Number of prime numbers in a range
Number of prime numbers between [2, v] interval can be

found out over Eq. (120),

D2 |y

2+Z 5

x=2

(120)

x—1
where v = 2x+1andd = 3 (2x+1—((2a+1)([2ailj))). If it
a=1

becomes d = 0 for an a vaIue, 2x + 1 is not prime. Otherwise,
it is assumed that is yet prime. Eq. (120) can be transformed
for number of prime numbers within any range as well.

4.1.4 Prime number has n order number

For prime number which has n order number, within any
range,
=yl = (=D*)
y(1 - (-
pP= Z 2
y=2

(121)

Eq. (121) operation provides p which is the prime number has
n order number over Eq. (121a), where Eq. (121a) is based

over Eq. (121),and d is d = Xf(z“ 1-(Q2a + 1)(L2a“+1j)))
a=1

L1+ (-

(121a)

4.1.5 Number of prime factors

The odd numbers which are tried until the main number of
the last column will not be enough for the operation of finding
prime factor; because this operation is necessary for finding
out one of the prime factors, and the other multiplier can be
exist after the last column; therefore, to find out number of
prime factor, all exponents of the main numbers which form
the columns must be divided by the number determined in a
way it does not exceed the number determined, and checked
again.

d operation for full value of v/(2a + 1)" must be d =
v—(2a + 1) (LTL)J)) over the greatest integer function of
Eq. (118); so Eq. (122) calculates how many exponents of
2a + 1 numbers for each a value are aliquot divisors of v for
each number determined.

t=v- (122)

w
-2
2

(2a + 1)

After that, when v is divided, left is prime factor itself, and
when it is subtracted from v again, if the result is equal to O,
then 2a + 1 number is not a multiplier. If the result is bigger
than 0, then it is a prime factor;

1+ (=1

f =3 —

a=1

(123)
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so, Eq. (123) provides number of prime factor for v which is
the positive odd whole number determined. If the result is still
0, v is a prime number.

4.1.6 A brief proof for P=NP status

These are not evidences to the impossible status of P =
NP; however as all prime numbers are certainly odd number,
and are between two consecutive odd numbers which are the
multiples of 3, it can be assumed, that there are only odd mul-
tiplies of 3 by 6x + 3 rule are in set of all odd numbers, and
the odd numbers between two odd multiples of 3 can be as-
sumed as prime. This increases number of prime numbers,
and also reduces possibility of multipliers to be odd whole
number which can be divided, and so reduces number of non-
prime factors. After that if it was assumed, that prime num-
bers are in the place of odd multiplies of 3, and the numbers
in-between positive odd whole numbers which can be divided,
then the separation rule of primes would be %3, and the num-
bers in-between would not be important; because there is now
a function providing the separation of primes, and it is now
known where are prime factors sought. The result of this
equation would be checked to understand whether a number
is prime or not, when this has happened. If the result is a
whole number, then the number is prime and if is not, it is
not prime. If the number is not a prime, at least I_%J opera-
tions would be done to find out prime factors; thus a status of
P = NP seems not possible over prime numbers; so it can be
maintained that

State of P=NP is only dream.

Proposition 2

Only 1 evidence is enough. I am of the opinion, that this is
the exact evidence.

4.1.7 Appendix

Number of prime numbers up to input number

An operator like Eq. (124) where s = % + 1, 9 is the first
number and 6 is the amount of increase, shall give s which is
the total column number for the input number of v, when the
result is rounded down for the numbers after the comma if the
result is decimal. It is rounded down; because otherwise the
next column will be included.

v-3
6
When column number is determined, after that number of
non-prime numbers is determined up to the last column s or
the total column number of s. After that there will be a fi-
nal operation which is to determine and subtract mutual ones’

number from number of non-prime numbers.

As the table’s rule is f(x,y) = 2x+1)(2y+1) where x,y €
Z and x,y > 0, for an input number v, number of non-prime

(124)

S =

30

number up to the last column the last column is included as
well is Eq. (125) or Eq. (125a),

ZS: in 2J _%

x=1

%l

x=1

(125)

(125a)

where >70_ | 525 | over Eq. (124).

Now, the mutual ones are subtracted from Eq. (125) or
Eq. (125a). As each 2a + 1 number for a : [1, s] interval will
give main number of each column which has a order number,
we will subtract from 3 each multipes of the numbers from 5
to s; from 5, each multiples of the numbers from 7 to s etc.
For example for 3 which is the main number of the first col-
umn, we must know how many multiples of 3 exist in the frist
column. To find out this we must use Eq. (125) upto s = 1,
and let naming this multiple number as x;. After that the first
colum’s separation rule as 6x; + 3 is equalized to separation
rule of 5as 10x, +5,to 7as 14x, +7and to 9, as 18x, + 9 etc.
Hence, the rule turns into Eq. (126),

K s—n+l1
Z( Z xz) (126)
n=1 x=1
where @ D
n+1x; —x
=|— 12
2 L2x+2n+1 J (1262)
3 v—(2n+1)J
x‘_{ 4n+2 (126b)

Hence, number of prime number becomes Eq. (127) for
an input number of v if 2,3,5 and 7 are included as well.

s—n+1

SHEREEE. R

x=1 n=1 x=1

Here, if it is certainly known that the input number is a prime
number, then as the input prime shall directly become the last
prime for number of total prime number, also order number of
the input prime in prime numbers shall be found out directly
by this way.

If the prime number has m order number is required, p
operation is repeated up to m— p becomes 0; so repeat number
shall directly be equal to order number of m. To realize this,
an operator like Eq. (128) can be used as also it was used
before for the above stated prime functions.

i w(l = (=172

5 (128)

Pm =
w=1
Here, when u becomes 0, the operator shall give 1; otherwise
for any positive or negative integer it always shall give 0; so
w = v as the input number and u = m — p are used to realize
this; but as 2,3,5 and 7 were included, the input number must
be bigger than 7.
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Integer floor function 2-3

For a/b operation where a, b € Z, when the result of a—bn
is positive integer for some n positive integers, an equation
must give +1 result in a sum operator. If the result is negative,
the same equation must give 0 result in the same sum operator
to find integer floor value of the division; so in Eq. (129) when
a — bm operation becomes negative, f(z) must become an odd
number, and otherwise must be an even number.

2 1+ (=)@

la/b) =) ——

m=1

(129)

Handle an operation like x(2x + 1). If an order is made
from small number to larger for all positive and negative x
values where x € Z, the number which has n order number
becomes Eq. (130).

n
N=§:n—1 (130)
n=1
For this condition, N numbers which have even order number
in the emerging order are formed by negative x values; so N
numbers which have odd order number in the emerging order
are formed by positive x values.

To find out order number of the last x(2x+1) = N, number
for the input number of x where n is the order number, we
need a reference. For example, we must always use either the
previous number as N,_; or the next one as N, ; because if
an addition is made by emerging N numbers by N,, + N—+1
being n is the last order number and m > 0, the difference also
emerges by some consecutive odd numbers but some special
conditions; so we need to know (N,, + Ny) — (N,_; + N»); but
each N number which has different order number is formed by
different number; so even x; = x(2x + 1) will give the last NV,
X, = —x(—2x + 1) does not always give only the previous one
or only the next one for the same x. This condition changes
due to the mark of x on x; and x,; so the order slides due
to mark, and again a problem occurs; so to determine which
one is the last one, again we must determine a rule between
positive and nagative numbers that the main aim was already
this to do these calculations.

Floor function over the variations directly

Right this point, if order number of positive and negative
odd integers are analysed over only either by % which is
order number formula of positive odd integers or % which is
order number of negative integers that handle % is used, it
seems that order number becomes odd number as the same r
odd number’s the other marked twin shall have even number

order number; so

{c+l
e= | —
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will be the same number but the mark where —y = 2g — 1

. +1 . .
y=2h-1,-y—g=candy—-h=d, soovery—”T which is
the single function of c and d overy = 2h—1 and —y = 2g -1,
over Eq. (131a),

y+1-2(-1'7

S = 1

(131)

SR bl eVl

2

fy) = 5t 5

Eq. (131) shall provide this condition alone; but emerg-
ing results by an order is 0,1,1,2,2,3,3.... To be of it as
1,2,3,4,5..., if an order is created by doing an addition for
each consecutive f(y) and f(y + 2), required addition for the
ordered f(y) resultis 1,1,2,2,3,3,4,4... by order; so by us-
ing a function like f(¢) = %_l)f which gives 2 for each
even k number, and gives 1 for each k odd number where

k=f@+fy+2),

(131a)

34+(=DF

kv =5 (131b)

2

Eq. (131b) shall give the required number which will be added
by order, and the result of f(y) turns into 1,2,3,4,5... as it
is required as well; so for each +y even number, the order
number turns into a positive odd number’s order number by
f(r) = % The emerging sliding for the same oder function
by using both variation of the same number as positive and
negative is removed by this way.

Hence over y - f(k), a function which is equal to y - f(k)
for positive y odd numbers as f2(k) +y — 1 is also not equal to
y - f(k) for the same number’s negative variation; an operation
like M is always even if y is negative, and is always odd if y
is positive.

fk) =

y- fl)+ fA k) +y—1
2
Hence, one variation of the floor function turns into
Eq. (132),

M =

(131c)

21— (=M
lappy =30 =

m=1

(132)

where y = 2(a — bm) + 1. The upper limit for the sum can be
for example (a — b)? instead of infinity as a reference.

The other variation of the floor function

To derive the previous N number by an input x, for +x,
a function must give —x result, and for —x the same function
must give —x — 1. Temporarily, let assuming these results are
provided by f(u).

For N,, + N,_,»+1 addition being # is the last order number
and m > 0, as we only use the last N and the previous one,
N; = 0 and N, = 1 are always fixed. As the difference be-
tween two consecutive N number is always integers by order,
for the fixed N numbers, the addition of the last one as N,,+ N,
will be even number when the previous addition as N,_; + N,
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becomes odd; otherwise the condition is the exact opposite.
When d = x(2x + 1) + 0—( f(u)(2f(u) + 1) + 1) becomes even
number, there is no middle point number as single in the new
emerging set if you assume that N,, + N,,_,,11 is done for each
element; but otherwise, there is a single middle point num-
ber that the addition is done by itself; so if the difference d is
an even number, the last N number’s order number becomes
n = d + 2. If the difference d is an odd number, the last N
number’s order number becomes n = d + 3. To write this in a
single function, it becomes

1-(-1)
2
As f(u) function, the function must provide that for neg-
ative x values —1 is added to —x, otherwise O is added to

—x. For this condition, it turns into Eq. (133a) where M is
Eq. (131¢).

n=d+2+ (133)

— (=DM -1

—x+
. 2

fw =

where x = y in Eq. (131¢).

Hence as order of x(2x + 1) where x € Z, is due to from
small to larger number by order, and as it starts by 0 which
is formed by positive integer, if n which is the order num-
ber in emerging N set by this rule, becomes an even number,
it means x is negative; otherwise x is positive; so the floor
function turns into Eq. (134) over Eq. (129) for the required
function on Eq. (129).

(133a)

2 1+ (=1
b] = _— 134
la/b) ; 5 (134)
where x = a — bm
Integer floor function 4
o 2
o0 1— (_1)2(1_[;1:1"”)
la/b] = Z 5 (135)

m=1

where xo = a — bm and x,, = M The upper limit

for both of the product and the sum can be for example (a—b)>
instead of infinity as a reference.

Integer floor function 5

Any odd number increases only by Eq. (136) for its even
multiples,

filx,y) = 4y +2)x (136)
and only increases by Eq. (137) for its odd multiples.
fxy) =@y +2)x -2y + 1) (137)
It is such; because for an equation like Eq. (138)
2y =2x" +2x -1 (138)
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over 2x+1)+2y = (x+1)(2x+1), as 2x*+2x is always an even
number, it can be said, that there is no consecutive multiples
of the same odd number for the functions in itself as even after
odd or odd after even, as numbers increase by 2. There is no
intersection point between Eq. (136) and Eq. (137).

To find out number of an odd number up to n number,
without decimal by a floor function, the equations become
Eq. (139) and Eq. (140),

n
x| = L(zer 1)J (139)
_n+2y+1 140
©T 2y (40

where n is the input number. Here, the main problem is vali-
dation of Eq. (141) or Eq. (142) if the first operation is LEJ or

\‘n+2y+lJ g
— |-
n 1
e HZJ '2y+1J

B n+2y+1 1
2= 2 2+ 1

For real value of %, over Eq. (143a), it becomes Eq. (143).

(141)

(142)

n=8y+4 (143)
n
5~ @y+D
l==—"—— 143
2w+ 1 (1432)

Here Eq. (143a) is decimal approach. As it can be seen over
Eq. (143) which is the result of Eq. (143a), there is no integer
interval for the y numbers which are integer. As n and y take
certain values, there shall not emerge a skipping; so there is
no difference between U%J . ﬁJ and E : LZ;—IJJ for oper-
ation priority.

In the same manner, the equation becomes Eq. (144) for

{%J over Eq. (144a); so the same is acceptable.

n=6y+3 (144)
n+2y+1
—2y+1
1= 2 (144a)
2y + 1
Hence, the equation turns into Eq. (145),
n1X| J
= 145
i Ey +1 (145)

where ny,, = B’J This turned into a single odd number’s
separation by its all multiples even multiples are included as
well; because actual question is how many (2y + 1) odd num-
ber there are between 0 and n, before deriving Eq. (139) and
Eq. (140); so it is depended on { 2 J since the actual equa-

2y+1
tion is Eq. (146).
n B n . {n +2y + IJ
2+ 1| [2Qy+1) 22y + 1)
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Hence again it can be used as Eq. (147) and Eq. (148) for
the same y number.

nlxl

= | 147

xl' L(Zyﬂ)J e
Ny, +2y + 1

Xy = | TV (148)
L 2(2y+1) |
The same is acceptable for Eq. (140),
Noy, +2y + 1

X = | 22TV (149)
L 2(2y+1) |
Noy, +4y +2

Xy = |22 (150)
L 2(2y+1) |

where 15y, = [”*?“J : so for both Eq. (139) and Eq. (140), a
continuous chain rule emerges up to infinite.

The above stated information are valid even for even num-
bers. I wanted to show it over odd numbers; because it is im-
portant to see the divisibility condition of 2 in a floor function.
Hence for any kind positive integer numerator and denomina-

tor, the main equation turns into Eq. (151) by the presentation

of Eq. (151a).
al | a a+b
b T |2w| | 2w
ld] = el + Lf]

Over Eq. (151), the first process for the equation becomes
Eq. (151b) by the presentation of Eq. (151c¢),
b
) (151b)

a a a+b a a +
M :( {%J ’ { 2b J)’L( {%J ’ { 2b
ld] =(Le1] + Leal)+(LAil + LA2)) (151c)

where a; = [%J Here, if the right side of the equation is

multiplied by 2, it turns into Eq. (151d).

(151)

(151a)

21d] = 2(Llei] + Leal) +2( LAl + LA2) (151d)

Here, e; and f; were dived by 2 in floor function; so how we

can write the right relation between 2 “"Z/ZJJ and [ﬁj , this is

the problem; because when this is done, we can also write the

equation in the kind of |e; ] and | f>]; so for an operation like
u

LJ , the equation is Eq. (152),

12|

ifitis 4| = ror [%| > ¢ by whole multiples of ¢. For the
last option as L%J < t also it is still valid; but due to to be odd

or even integer of u, as 2 L%J is always even number, when

(152)
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[%J becomes odd number the equation does not work. Hence,
the right interpretation is as Eq. (153),

Lu/2] 1 — (=12 u
2 = |- 153
{ ' J T2 ' (153)
ul _ u 1-(=D" : : : : :

where bj = 5 — —7—. Right this point, it turns into

Eq. (154),
el—k
) = L (154)

where k = L;)WJ Hence, also Eq. (151d) includes |e] + | f]
instead of |e; ] + | f1], and it turns into Eq. (155).

21d] =(lel =k +2lea])+(Lf1 = m+2Lf]) (155)

where m = >

Eq. (156).

It means that the equation is

ld] = lel +Lf] =2(lea] + LAol) =k —m (156)

All right; but this is not enough; because we cannot know
upper floor values in emerging infinite chain. We must know
which chain lines include only whole multiples. Being these
are the numbers like ¢; = x+3, fj = y+1 and thus f> = fi+3
for the worst possibility, the equation becomes Eq. (157),

Lld] = ler + fol + lex + fi] (157)

where |e;| + |f2] = le1 + f2], and as the same is acceptable
for lex] + L fi]l = lex + fi] also this is a certain rule which
is always valid. It means that, for the chain operation which
will emerge by the same method, it is possible to use only one
double element from both side of e and f for any multitude
elements.

For the first process of a floor function as |e] + | f], if a
table is made by emerging chain operations, being E is even
multiples side and O is odd multiples side, the table turns into
Table 2 by using middle elements of the emerging chain tri-
angle by the same rule of Eq. (151b) when it is sustained.

[E[O]
[ e | f]
[ £ ] e |
| Jaleal-
S e |-
| e | e |
| fa | ea |

Table 2: Double middle groups of e and f

The used numbers are only subordinate neighbors of
Lf> + e2]. Here as it can be seen, the condition turns into the
exact opposite; because even column started to include odd
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multiple formula, and odd column also includes even multi-
ple formula. O column certainly shall become 0 on a line, and
after that it will be always 0. In the same manner, the other
column shall be 2b on a line, and after that, it will always
include 2b. As we cannot know floor value of the higher ele-
ments of the table, we must know when sum of E + O starts
to repeat on each line by the same values to infinity. At this
repeat point, it means there is 1 whole value; so if we can find
out when the middle sum becomes whole multiple of the de-
nominator certainly by the input values as denominator and
numerator, we can use the process number up to this line. To
determine this, we must always dive f by 2 down to 0 for floor
value; so

0 1 + (_l)zfm

n=1+z 5

s=0

(158)

where fi.1 = w and fy = f. This is the process
number which is required to make f number 0 by diving only
by 2 for each operation’s floor value.

At the line which the repeat starts, there is absolutely 1
whole value for each column of both columns as numerator
and denominator are equal to each other. Process number is
used to determine whole value right this point. The first equa-

tion is W = lea] + | f2], and it converges to the last e-f
double by
d+ky +m
————+ky+m
2 + k3 + mjy
2 +
5

Hence the floor function becomes Eq. (159) being 7 is the
process number.

(159)

a n
\‘bJ =2" (en + f;l) - ;2}1_1 (kn + mn)

By the way, here actually each one of the last e and f values
are 1 if the numerator is not smaller than the denominator.
Also actually always second e and f values are taken; but as
the other doubles are removed, we can assume that they are
the first ones. Also to find out each &, and m,,,

n

1 — (=1ywe
kn = Z f

n=1

(159a)

where w,
2a—1+(=1)
=i

LwHHJ 2wy +3)—1+(=1)"n1+3
- 4

2 »and wy = L%J =

n

1= (=1)o
my=> —

n=1

(159b)

Z/xfl+3J = 2@ #3) =111+ @J —
2 4

where z, = | and 7o = [

2a+b)—1+(=1)+
e Sl
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4.2 On the Mersenne and Fermat primes

4.2.1 Mersenne primes

Mersenne primes, which are depended on Eq. (160) does
not give always prime result.

27— 1=p, (160)
If Eq. (160) is turned into Eq. (160a),
2="/pr+1 (160a)

then (p, + 1) always must be a number like 2". If this is the
condition, then for p, = 2" — 1 where n > 1 positive integers,
the result always must be prime number.

2" — 1 is always a positive odd number and is
always prime number, where {n € Z* | 0 < n}.

Argument

Let using a function like f(x) = 10x + 3. If there were
infinite number of intersection points of 2" — 1 with f(x), then
2" —1 would not always become a prime number. For 2" -1 =
10x + 3 equation, it turns into Eq. (161).

)
TS

(161)

For some n > 2 positive integers forever, Eq. (161) gives x
integers forever as 5 or multiples of 5 when 2"~! had 2 in
the first digit as 2"~! has a constant repeat as 2"~ can only
be formed by 2. If this is the condition, then it explains that
Mersenne prime function doesn’t give always prime results
for given variable primes.

4.2.2 Fermat primes

2" + 1 is always a positive odd number and is
always prime number, where {n € Z* | 0 < n}.

Argument

In the same manner, let using a function like f(x) = 10x+
5. For 2" + 1 = 10x + 5 equation, it turns into Eq. (162)

(162)

Eq. (162) has the same result with Eq. (161); so it can be said
that Fermat prime function which is depended on Eq. (162a)
does not always give primes where 22" = 2%,

p=2"+1 (162a)
As the result, as Mersenne and Fermat prime functions don’t

give always prime result consecutively; so they may give
prime results by variable intervals forever.
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4.2.3 A common solution

As any prime number is between two odd positive consec-
utive multiples of 3, let using f(x) = 6x + 5 function which
is always between two positive odd multiples of 3, where
{x € Z* | 0 < x}, and is always the next one relatively to
the smaller multiple of two consecutive multiples of 3. For
2% — 1 = 6x + 5 equation, it turns into Eq. (163).

Za—l
3

+1 (163)

X =

Here, as 2¢"! is only be formed by 2, it is not dividable by 3;
so x on Eq. (163) is always decimal, and 2~ can never exist
as the next odd number after 3. Also as non-prime numbers
or prime numbers cannot only exist alone as the previous odd
number just before 3 or after 3 as the next one consecutively
as we can see on Eq. (165) and Eq. (165a), Mersenne function
always may give some prime results forever as well. f(x) =
6x + 7 function is always between two positive odd multiples
of 3 for positive x numbers and is always the previous one.
For 2 + 1 = 6x + 7, it turns into Eq. (163a),

Zh—l
X=—-

3 (163a)

and as 2! is only formed by 2, it is not dividable by 3; so x on
Eq. (163a) is always decimal and 2” + 1 can never exist as the
previous odd number before 3. Also as non-prime numbers
or prime numbers cannot only exist alone as the previous odd
number just before 3 or after 3 as the next one consecutively
as we can see on Eq. (165) and Eq. (165a), Fermat function
always may give some prime results forever as well.

Even if Fermat and Mersenne prime functions
certainly do not give prime results always, we
cannot know if they give non-prime result. This
was proved in Section 4.7.

Notice

4.3 Palindromic primes

Are there infinitely many palindromic primes?

Argument

4.3.1 Analysis of first degree function possibility of
prime numbers

As any odd number is between two consecutive odd mul-
tiples of 3 that these multiples are dependent on f(x) =
6x + 3 function, then also prime numbers are certainly be-
tween them. For separation rule of 7 by f(a) = 14a + 7 and 5
by by f(b) = 10b + 5 in odd numbers, if intersection points of
f(a) and f(b) constantly appeared as only the previous one or
only as the next one of odd multiples of 3, then an uncertainty
would emerge about first degree function possibility of prime
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numbers by certain intervals. For 14a +7 = 10b + 5 equation,
it becomes Eq. (164).

Ta+ 1
S5

Hence, when 7a+1 becomes 0 or 5 for its first digit, b becomes
an integer and also an intersection point; so for this condition,
a directly becomes depended on f(c) = 5c — 3 function. Each
c positive integer gives a result an integer to make b an integer,
and to create an intersection point between multiples of 5 and
7. For each c integer value, if the emerging intersection point
is always the previous or the next one relatively to odd multi-
ples of 3, then an uncertainty shall emerge about first degree
function possibility of prime numbers by certain intervals; so
to analysis this, for the function f(d) = 6d + 5 which gives
the next odd numbers after multiples of 3, over f(b) which is
f(b) = 10(Z1251) + 5, it becomes Eq. (164a) for f(b) = f(d)
equation.

(164)

_ 35¢-20
T3

Hence, it can be said that d is not defined for each ¢ consec-
utive positive integer; so the intersection point of 5 and 7 in
odd numbers sometimes appear the place after multiples of 3,
and sometimes appear before; so as there are only two odd
integer place between two consecutive odd multiples of 3, if
it is derived a first degree function which always only able to
appear before or after multiples of 3 cannot be prime number.

d (164a)

4.3.2 The solution

All the positive odd numbers before odd multiples of 3
were non-prime numbers, then as all positive odd numbers
are between two consecutive odd multiples of 3 and there are
two odd numbers between them, all the positive odd numbers
after odd multiples of 3 would have to be prime number; but
it is not possible as there shall always multiples of 7 as far as
we can see over Eq. (165a), and also because of first degree
possibility of prime numbers as the below.

Hence, for example by using positive integers for between
two consecutive positive odd multiples of 3, f(x) = 6x + 5
function is always between these two positive odd multiples
of 3, where {x € Z* | 0 < x}, and is always the next one. If we
use the separation rule of 5, then for 6x+5 = 10y—5 equation,
it turns into Eq. (165)

3x
y=—+1

5 (165)

For positive integer u numbers and x = Su equation, x on
Eq. (165) shall always form y as an integer; so there are al-
ways some positive odd multiples of 5 at the next positions
of positive odd multiples of 3. For the second and last sit-
uation, f(x) = 6x + 7 gives the previous odd numbers of
odd multiples of 3. If this is the condition, then by using
6x + 7 = 14x — 7 equation as odd multiples of 7 which is
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depended on f(y) = 14y — 7 function, it turns into Eq. (165a).

3x !
=—+
=7
For positive integer ¥ numbers and x = 7u equation, x on
Eq. (165a) shall always form y as an integer; so there are al-
ways some positive odd multiples of 7 at the previous posi-
tions of positive odd multiples of 3. If this is the condition,
then there are infinite numbers of palindromic primes by the
rule of odd multiple of 3 which is 500....007 has variable
number of zeroes between 5 and 7, and as prime 5 and 5.

(165a)

4.4 Goldbach Conjecture

The main question about Goldbach Conjecture is pretty
clear that is each even number sum of two prime numbers?

4.4.1 The solution

Being p is a prime number, for definition of ps > p3 A
ps—p3s =2n+2An > 2An € Z"; first number group
which is created by n pieces non-prime consecutive positive
odd whole numbers, the smallest odd whole number it has is
p3+2 or py—2n and the biggest odd number it has is p3+2n or
pa—2, contains greater numbers than last number group which
contains n— 1 pieces consecutive non-prime odd numbers and
none of the numbers n group contains, for definition of p, >
p1Ap2—p1 =2(n—1)+2is before n group, and the smallest
odd number it has is p;+2 or p,—2(n—1) and the biggest one it
hasis p; +2(n—1) or pp —2. Also n— 1 groups which contain
n — 1 pieces non-prime consecutive odd numbers and have
greater numbers than n groups have are possible; but these
groups can never exist until n groups emerge because of the
above stated reasons and definitions; because n groups also
contain 2 pieces (n—1); and (n— 1), consecutive groups which
n — 2 pieces elements of them are common with n groups.

The difference between n — 1 and (n — 1),, is not to be of
prime number there after last number of first group and before
first number of last group of emerging two groups; therefore
when two groups emerged as (n—1); and (n—1),, it means that
n group already had been emerged spontaneously, and is first
n group. Being (n — 1); is the first and (n — 1), is the second
group, as last element of (n — 1), group is always bigger than
all numbers of (n — 1), it means (n — 1); had already been
emerged before n group. Also as n — 1 group must exist at
the place before (n — 1); group, then numbers of n group are
always greater than numbers of n — 1 group for the definition
of n and n — 1 groups. Here all possible n — k groups for
m,k € Z* definition are unique; but (n — k),, groups which
have common element with another groups are not unique.

Being k = 0, for n — k = n groups, 1 piece of selected n
pieces consecutive odd numbers from 3 to numbers of n + 1
group has to be prime number; so if some tables are made like
table 3 and table 4 for each n, they will help about the main
question.

When similar tables for the other n groups are made, and
when an addition is done by order between selected n pieces
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Table 3: The table for n=2

X y
313 5 7 9 11 13
515 7 9 11 13 15
X 4+ y = Db
6 8 10 12 14 2a+4
10 12 14 16 18 2a+8
Table 4: The table for n=3
X y
313 5 7 9 11 13
515 7 9 11 13 15
717 9 11 13 15 17
x + y =D
6 8 10 12 14 16 2a+4
10 12 14 16 18 20 2a+8
14 16 18 20 22 24 2a+12

of the smallest consecutive x number group elements and el-
ements of y groups that each group of y contains n pieces of
consecutive odd numbers, the result will be like in the tables.
Here, the first group of y is the same with x column. The first
and the smallest number of the next y group is greater by 2
than the first and the smallest number of the previous y group.
The sum of b is always an even number as well.

As the first y group is also x group and as also the biggest
number of x group is always 2n + 1, the biggest number of
first b group must always become 2(2n + 1) = 4n + 2. This
number is the first number which starts to be common with
all the other b even numbers which are formed by different x
elements for the same » value in the tables; because it is in the
last emerging line. Each even number after this number can be
formed absolutely as n pieces the number itself is included as
well. As 1 piece of selected consecutive n pieces odd numbers
must be prime number until n + 1 group, minimum 1 piece of
the even numbers which are in each even number group has
n pieces of the same even number must be sum of two prime
numbers.

Here, if also 4n+4 number after 4n+2 number is included,
if all of emerging n pieces of the same 4n + 4 even numbers
are not the numbers of n + 1 group in a table for the same n
value, as all results of 47 + 4 and 4n + 2 form set of even num-
bers greater than 8, then it means each even number which is
greater than 8 absolutely must be sum of two prime numbers.

The equation between a values that first a namely a;
which gives even numbers in the first line for a = [1, c0) over
2a + 4, and a,, which accepts the first even as 4n + 2 and gives
the numbers of 2a + 4n is (166)

ay=a,+2n-2 (166)

Here, result of a; for a, = 1 is also equal to number of
used odd numbers in the first y line to form 4n + 2 number or
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is equal to number of used numbers which are different than
each other in the tables for the same n value, outside of using
a, to form 2a, + 4n namely 4n + 2 number; because it is also
X + y operation number of forming 4n + 2 even number in
the first line; therefore a; number over (166) for a, = 2 is
required to form 4n + 4, and it must be (167)

(167)

4.4.2 The result

As the result for the above stated information, assume that
4n+2 and 4n+4 numbers cannot be sum of two prime numbers
for each n value. Last n pieces of y consecutive odd numbers
which are required to form 4n + 2 and 4n + 4 numbers for re-
quired » value, must be n group numbers; thus only 2n—n = n
pieces y consecutive odd numbers can be used it means being
3 is the first usable number on the first y line; but already this
means that all numbers except 1 are non-prime consecutive
odd numbers for each n value that is impossible. Even if it
is assumed that, for the worst possibility n and n — 1 groups
emerge together by the same numbers as non-unique groups,
also the information stated above that this assumption is im-
possible. Already if it is impossible even for n group, when it
is assumed that there are another groups,

(168)

2n — z": n
n=2

number of used or usable consecutive y odd numbers will de-
crease by (168), and is impossible for n > 1 definition. As and
if we do not know prime separation, for the worst possibility
of number of existent primes in 2n pieces usable consecutive
odd numbers on the first y line, assume that for n, there are
consecutive unique n groups until last 2z number even if ac-
tually they cannot be fitted such that as emerging number of
the numbers will be bigger than 2n by this way; but if it is
right, then amount will not be important that you can assume
that there are (2n)? pieces n groups if essence of the function
provides this that it is provided here; because the number of
the non-prime numbers will increase greater than the primes
for assumed n pieces unique groups; so as unique groups are
between two primes, there must be 2n pieces prime numbers.
As this 2n is also equal to number of the used numbers on
the first y line that it is not important which numbers of 2n
pieces numbers are prime or not prime here, absolutely mini-
mum 1 piece of each n pieces the same even 4n + 2 numbers
and minimum 1 piece of each n pieces the same even 4n + 4
numbers which emerge in each table separately are absolutely
sum of two prime numbers. Also it means that all even num-
bers greater than 8 are sum of two prime numbers. This is
also proof of infinite number of twin primes.
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4.5 Twin primes

Select any unique number group which has n pieces of
consecutive non-prime odd numbers. This group has to exist
between 2 prime numbers according to the definition stated
at the beginning between prime numbers and group numbers;
because otherwise there will occur a group like n + 1 group
instead of n group that actually infinite number of non-prime
numbers can be consecutive. For example, let us take consec-
utive multiples of 3, 5, 7, 9 and 11 for n = 5 group. Being
a is an odd number, any multiples of odd numbers become
a(2x + 1) for required x; so over (6x; +3) +2 = 10x, + 5, it
becomes x; = 5x. Over (6x; + 3) + 4 = 14x3 + 7, it becomes
x; = 7x. Over (6x; +3) +6 = 18x4 + 9, it becomes x; = 9x.
Over (6x; + 3) + 8 = 22x5 + 11, it becomes x; = 11x. Re-
sults of 6x; + 3 which are odd multiples of 3 become 30x + 3,
42x + 3, 54x + 3 and 66x + 3 for the stated x; values. If also
these are made equal to each other, being (11-9-7-5-x) =m
and the first number of the group is multiple of 3, consecu-
tive multiples of the group numbers become by order 6m + 3,
6m+5,6m+7,6m+9 and 6m + 11. For more consecutive
odd multiples, we can increase the number of used numbers
in a group forever.

I selected ny, ny, n3 and ng consecutive odd numbers in
n = 4 group like pnnyn3ng p, being p is prime number. Min-
imum one of these n numbers has to be multiple of 3; because
separation of odd multiples of 3 is according to 6x + 3, and
so there are always 2 consecutive odd numbers between two
consecutive odd multiples of 3. Here, if n, becomes odd mul-
tiple of 3, then p, must be the next multiple of 3 that this is
only possible for n = 5. If n3 becomes odd multiple of 3, then
p1 must be the previous multiple of 3 that this is also possible
forn = 5. As it was said, it is possible to form groups have in-
finite number of consecutive non-prime odd number, namely
n = 4 must exist anyway.

If n; becomes odd multiple of 3, then ns must be the next
multiple of 3 and also ns becomes the next multiple of 3 after
ny as ny became the previous odd multiple of 3 before n; over
nonypi1ninan3ngprnyns.

If n4y becomes odd multiple of 3, then ns becomes the next
multiple, and ny and n; become the previous multiples of 3;
thus n; and ny4 are pretty suitable to be odd multiple of 3.

Here, infinite number off odd consecutive n number can
take place after ns; so element number of the next group after
n = 4 is not important; but n, is always prime or not, this
is important. Over n, = ns —2 = (6x + 3) — 2, it becomes
n, = 6x+ 1. Hence, n, never can be only prime number where
x € Z* Ax > 0. Itis not prime for required x, and otherwise it
is prime for emerging odd numbers between two n, and 7,
numbers which are a result of consecutive two x and x + 1
values; so when it becomes n, = ps, it is a twin prime group
between ny and ns; thus twin primes are in infinite number.

4.6 Collatz Problem

The main question about the Collatz Problem is also pretty
clear. When a positive whole number is selected, if the num-
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ber is an even number then it is divided by 2; otherwise it is
multiplied by 3, and after that 1 is added to the result. When
the same operation with required option of the problem due
to the condition of to be odd or even number of the result is
repeated for the last results, can each positive integer which is
different than 0 and 1 be reduced into 1?

4.6.1 The solution

If the input number is an even number, and if it is not an
even number as 2" as well for definition of n € Z* An > 0;
being pn is process number, when the input number is divided
by pn times 2 or directly by 27", each positive even number
absolutely turns into a positive odd number as they can be
defined as (2x+1)-2" for definition of x,n € Z*An > 1Ax > 0;
thus we should only work over odd numbers.

3a, +1
apy1 = )

(169)

Over (169), it must become a,,.; = {2,5,8,11,....,3x — 1}
where x € Z* A x > 0 for a limited interval. For the
numbers which make @, an odd number, it becomes @, =
{5,11,17, ....,6x— 1} for a limited interval and the same x def-
inition. Also it becomes a, = {3,7,11,15,....,4x — 1} over
a,+1 odd numbers for the same conditions.

The below is a table over a, and a,;; numbers by order
over (169) for a limited interval being E is even and O is odd.

Table 5: a, and a,,; numbers

an 3 7 11 15 19 23
ap | S 11 17 23 29 35
a2 |E O E O E O

On the table of 5, for 12x — 7 numbers from a,,.; numbers
with the same x definition, it becomes (170).

3(12x=7) + 1
2

18x— 10 = (170)

The result of (170) is absolutely even number for each x. For
12x—1 numbers from a,,,.; numbers with the same x definition,
it becomes (171).

3(12x=1) + 1
2

The result of (171) is absolutely odd number for each x. Right
this point, the question is this that for (172),

18x—1= a71)

3an+1 +1
2

(172)

api2 =

when a, ., becomes an even number and divided by 27", does
emerging odd numbers as a result always emerge before @,
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in set of odd numbers due to number order or can it be bigger
number than a,,,?

As the answer, if the result of the operation of (172)
becomes even, to realize of to be reduced of the result of

3aﬂ+1 +1 . . . .
S o operation into an odd number which is before a,,;1,

the condition of (173) always has to be provided.

3£ln+] +1
1> 2. opn (173)
Antl
If (173) is edited then as (174),
1 1
1>——3+ > 174
g 2pn+l ( Apt1 ( )

the inequality of (174) always provides this for the definition
of pn>0Aa, >1Apn,a, €Z*.

As a result, when a,,4, is reduced into an odd number, the
odd number is always before a,,; odd, and is smaller than it.

3an+1 +1 .
It means that the odd number as a result of a,, = BT is
+1

always smaller than a,,; number. Even if becomes

even number, again it can be reduced into a smaller odd num-
ber than both a,, and a,,, and it is acceptable for the other
repeats as well.

Right this point, a second question emerges that is there
a number which always gets bigger and does not become an
odd number on (169) infinite chain.

As the answer, there is table for the numbers which do
not emerge on table 5. If these numbers are included to the
numbers on table 5 as well, the sum is set off odd numbers.
There will no other odd number which is not included to the
calculations.

Table 6: The numbers which are not in the previous table

5 9 13 17 21 25 29 4x+1

The numbers which are written thick are also in a,,; line
in table 5. The other numbers are the numbers which are not
in table 5.

If some groups are made for 4x + 1 numbers in table 6,
there will only emerge 3 groups for 12x—3,2x+1 and 12x—-7
numbers for the same x definition. Being a,,+1 = 12x-3, (175)
always gives even result.

3(12x-3)+ 1
2

Being a,+1 = 12x + 1, (176) always gives even number result
as well.

18x-8 = (175)

3(12x+ 1)+ 1

(176)
2

18x+2=
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As 12x — 7 numbers, they are already the same numbers with
an+1, and at the result of (172) they always give even number
being a,,; = 12x - 7.

As even numbers, they can always be reduced into a
smaller odd number than the odd number which makes them
even number in the operation of (169) as it was proved; thus if
each one of @, = 4x— 1 numbers do not get greater by turning
into an odd number when (169) is repeated for each n number
where n € Z*, it means all positive whole numbers different
than 0 and 1 can be reduced into 1.

In table 5, 8x — 5 numbers from a, numbers turn into
an+1 number which gives even result over (172); thus the only
chance is to give odd result always of 8x — 1 numbers over
(169) infinite chain. To be realized of this, the same num-
bers with @, must emerge on a,,; line in table 5. Also always
the numbers which give odd result must emerge on a,.; line
between them. For the same x condition, 4x — 1 and 6x — 1
operations give a, and a,,; over (169) for the same x number;
so the waited loop occurs or does not occur,

6)62
X1 = T (177)
(177) shows this over the equality of 4x; — 1 = 6x, — 1. For
(177), it becomes x; = 3tand x, = 2tovert € Z* At > 0
condition; so the problem is reduced into the rule of table 7
below.

Table 7: The numbers for each t

2t |2 4 6 8§ 10 12
3t(3 6 9 12 15 18

Each number on 4x — 1 and 6x — 1 is also order number of
a, and a,.; in table 7; thus the number has 3¢ order number
on a, or 2t line and the number has 2¢ order number on a,,,;
or 3t line in table 7 are the same numbers.

As the odd numbers on 3¢ line in table 7 are a,,; numbers
which give even result in table 5, they are elected; thus table
7 turns into table 8.

Table 8: The other numbers for each t

4 | 4 8 12
6t | 6 12 18 24

16 20 24
130 36

In table 8, to occur of the infinite loop, when a 4¢f number
is selected, also 6¢ number which is under it and on 6¢ line in
table 8 must be even number, and also this 67 number must
take place on 4t line again. This condition has to take place
for one or more than one number to be broken of the Col-
latz’s reducing chain, and then one or more than one number
will not be reduced into 1; but this is impossible; because for

61,
torl = Tn where t > 0 A t,n € Z*, for each t whole number,
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6t,
fyers = lim —= (178)
(178) has to be provided for the condition of (179),
tosstari s € Z° (179)

where 1,; = 4, t is the order number of the number which is
waited of starting the loop from it, and 7 is the repeat number
of (178) for each t. As this condition of (179), it cannot be
provided for each ¢. For example, for ¢;; = 4, it becomes
6111 = 4121 and so becomes #,; = 6. For 1,1 = 6, it becomes
61,1 = 4131 and so becomes 13; = 9. For 13 = 9, it becomes
6131 = 414 and so becomes #4; = 27/2. As it can be seen,
t41 ¢ Z* and so the condition of (179) cannot be provided.

4.6.2 The result

(178) cannot continue forever; because wee need a num-
ber which has infinite number of common divisors like 4% or
(2x + 1) - 4% imaginary numbers. As it can be seen, only we
can increase the repeat number by using a ¢ number like 4™
where m > 0 A m € Z* that if m gets bigger, then the repeat
will increase; but there is no infinite repeat; hence, any whole
number absolutely can be reduced into 1 by changing opera-
tion numbers of the Collatz’s rule due to the used number.

For the repeats of (169), being 2™ is order number of the
selected odd number of a,, in table 5 where m > 0 A m € Z*,
it gives m + 2 pieces odd number, and then the last one gives
even number on (169) for 2. Table 9 is a demonstration of
this.

Table 9: The other numbers for each t

m a,
1 |7— 11— 17

2 | 15— 23— 35— 53

3 31— 47— 71— 107— 161

Also we can use an operation like (180), and we can derive
another operation as well. The below is an example.

(180)

Here for (180), m + 1 pieces odd numbers or repeats on (169)
emerges being a = ap which is first input number on (169).
You can write your own operation as well.

4.7 Perfect square of p-1
Are there infinitely many primes p such that p—1

is a perfect square?
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Argument

Here, p — 1 is an even number where {p € Z*}. If it is
turned into e? + 1 = p where e is an even number. As prime
numbers are odd numbers, they can only exist between two
consecutive odd multiples of 3. As there are only two places
in-between for odd numbers, for the previous position rela-
tively to multiples of 3, the equation becomes ¢ + 1 = 6x+ 1,
and finally turns into Eq. (181).

(181)

Right this point, let e to be a number like 6a. For this condi-
tion, x directly shall become 6a?; so for Eq. (181a),
e +1=36a"+1 (181a)
it can be said that a second analysis is required that p = 364>+
1 equation can always be provided or not, where p is prime.
Right this point, if it is assumed that numbers come from —oo
direction to +co on number line, then for the previous odd
numbers relatively to multiples of 3, the destination equation
of previous position of multiples of 3 which is f(x) = 6x + 1
becomes f(r,t) = 6r— (6t — 1) to start before 0 to +oo for each
r and ¢ positive integers; then for 36a*> + 1 = 6r — (6t — 1)
equation, the equation becomes Eq. (181b).
r=6a’+1t (181b)
Hence, for each a positive integer, > + 1 = p can be reduced
to place each previous position before multiples of 3. As all
previous position cannot be non-prime number, forever it be-
comes prime number by some intervals.

As the result, it can be said that, as first degree place func-
tion is not possible for primes as it was proved the above, also
no exponential function can be written as f(m) = m"; be-
cause m" never passes a place when intersection points for in-
between numbers are determined for any f(r, ) = 6r—(6t—1)
which starts to give in-between numbers from negative direc-
tion of number line to +oo. It always intersects.

4.8 A brief approach to the Riemann Hypothesis over
the Lagarias Transformation

Over the paper of Lagarias [8], for a positive integer n, let
o(n) denote the sum of the positive integers that divide n. Let
H, denote the nth harmonic number by

"1
Hn:Z;
n=1

Does the following inequality hold for all n > 1 where
o(n) is the sum of divisors function?

H, + In(H,)e™ > o(n)
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4.8.1 Definition for the solutions

Theorem: First of all, let’s define an imaginary function
as p(n), and know that this function is the sum of the elements
which are not dividable being the result is an integer in a func-
tion as nH,; so according to this definition, it becomes as the
following.

a(n) +p(n)
n

n =

By using the equation, H, + In(H,)ef™" > o(n) inequality
turns into Eq. (182).

H, + In(H,)e" > nH, — p(n) (182)
If it is edited, it becomes Eq. (183) over Eq. (183a).
In(H,)e"™ + p(n)
— 2> H, (183)
n-—1
In(H,)e" > nH, — H, — p(n) (183a)

Condition: Right this point, assume that, the actual in-
equality is not as Eq. (183) but it is Eq. (184).

(184)

>H,
n

On Eq. (183), actually the numerator is always bigger than
e and also if the divisor was n — 1, this would increase
the possibility of to be greater than H,, of the division; so for
the worst possibility, let’s use this as Eq. (184). This final
inequality is true for any n > 1 integer, and so as it is for the
worst possibility, it means that for greater n values, accuracy
of the main inequality increases; but how we can prove it?

H,

4.9 The Arc Side

It is possible to compute trigonometric functions and 7
like calculating a root of an integer. It can reduce process
number of power series.

B

Fig. 23: Two points on the circumference
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As the first step, let choosing two points like B and C on
Fig. 23, and know that; /BAC, the radius and so 1/96 are
known. The angle should not be more than 45°. The other
angles between 45° — 90° will be found out by using half an-
gle formula of cos(2a) = cos*(a) — sin*(a). Otherwise its
projection must be drawn for the other side of AB.

NN

B c’
Fig. 24: The arc side

Thereupon as the second step, open BC as BC’' where the
radius is the height as the same as on Fig. 24, and lengthen it
as 2|BC|. Know that, as [BC| is known, also |BC’| and so |AC'|
are known.

B H

o F

Fig. 25: The second radius

If a circle is drawn for AC’ radius, then it will look like
on Fig. 25, and know that C point is not on EG. The equation
becomes Eq. (185),

JAEP®
|AFI?
where |[AG| = |AE?/|AF| in 4AEF and |AD| = |AG|*/|AE| in
AAGE.
It will be as Eq. (185a),
|AB| - |BC'|

v/|AB|? + |BC'|?

where |AD|/|AB| = |DG|/|BC’| from the similarity in AABC”,

|AD| =

(185)

|IDG| = (185a)

|AD| = |AGJ*/|AE| by using Euclid relation in 4/AGE and
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|AE| = +/|ABJ* + |BC’|? equation for |AB| = |AG| and |EG| =
|BC’|.

For Eq. (185), |DB| =
Eq. (185b).

|AB| — |AD| equation turns into

JAEP
IAFI?

As the equations are |DB| = |GL|, |GH| = |BH| and |EH| =
|HC'|, for |GL|/|BE| = |GH|/|HE)| it will be as |DB|/(|AE| —
|AF|) = |GH|/(IBC’| — |GH]), and when it is edited, it turns
into Eq. (185¢).

IDB| = |AB| - (185b)

|BC'| - |DB]
|AE| - |AD|
As AEBH and AHLG are similar triangles, the relation

will be |GL|/|BE| = |HG|/|HE]|, and it turns into Eq. (185d)
for |GL| = |DB| and |HG| = |BH| equations.

|GH| = (185c¢)

_ |HG| - |BE]|

HE| = 185d
HE|= = (1850)

Here, Eq. (185d) is also |HC’| for |HC'| = |HE]| equation.
As the equation is |AE| = |AC’|, then it will be |AE| =
\/|ABJ? + |BC’|?, and finally turns into Eq. (185¢).

|BE| = v/|ABJ> + |BC'|> — |AB|

As we know |HG]| as Eq. (185¢), |DB| as Eq. (185b), and |BE|
as Eq. (185e), then also we can find out Eq. (185d) after this.

(185¢)

A N\
D SO
P
E F

Fig. 26: A part of Fig. 25

If AC radius is intersected with EG by lengthening, and
just a part is taken from Fig. 25, it will be as Fig. 26. As
AGS R and AGDE are similar triangles, it will be Eq. (185f).

IGS| ISR

—_— 185f
GDI ~ DE| (1858)

In AGSR, as it will be |GR| = /|SRJ?> + |GS|? also it will
be Eq. (185g) over Eq. (185f).

ISR|\/|IGD|? + |DEJ?

|DE|

IGR] = (185g)
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For (IDB|-|S R|)/|BE| = |HR|/|E H| equation over the simi-
larity between ARPH and AHBE, |HG| = |GR|+|HR)| equation
turns into Eq. (185h) for |[SR).

sk _|PEI(HGI 1BE| - |EH] - 1DB)
|BE| \/|GDJ? + |DE|?> — |DE| - |EH|

(185h)

If Eq. (185h) is used on Eq. (185f), it will be as Eq. (1851).

IGDI(IHG] - |BE| - |EH| - IDB|)
GS| =

= (1851)
|BE|\/|GDI*> + |DE|> — |DE| - |[EH|

Being the equations are as |GR| = \/|SR> + |GS |2, |ER| =
|EG|—-|GR|, |AR| = \/|AG? + |GR|?, |BC’| = |[EG]| over the law
of cosines for ZEAC = a, it will be as Eq. (186).

|AE* + |AG> - |BC'|> + 2|BC’| - |GR|
2AE| \/IAGP® + |GRP

(186)

cosa =

4.9.1 Area and length relations

If an internal tangent circle is drawn in a square as the
same as on Fig. 27, and if length of the square is changed for-
ever gradually, then all the lengths of the circle in the square
have to change in the same ratio; because AD is radius of the
circle and also |FC| is related with the same radius AF'; so
also all will be emerged lengths of the circle change at the
same amount that; |[EF|, |AE|, |DE| and |EB| are included as
well naturally.

Fig. 27: Internal tangent circle

During these changings, also ratios of the area which are
between DB and DB chord are always conserved, any area in
ABCD square is included as well; because if some triangles
are drawn as depended on the rule in Fig. 28 gradually forever,
then there shall always emerge some triangles with right angle
instead of the cirAcle slice; therefore the area between DB and
DB chord, and DB and |DC| + |CB| always change in the same
rate.

Already it can be analysed by looking at the radius, /ABD
and the other chords, the arcs are included as well. It can be
said that ratio of two length which are intersected or indepen-
dent of each other is the same and fixed for changing radiuses
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A B

Fig. 28: The quarter slice of Fig. 27

or square sides; so also ratio of the areas which are dependent
of the lengths is the same and fixed as well, where lengths and
areas are amongst themselves. If this is the condition, then for
the circle area A, r radius and square area 4> which emerges
for the same radius, it will be a constant like W = 4r2/A.
Thereupon, let the circle’s area is a number like 7 where r = 1
unit . For this radius, the equation becomes 4r>/A = 4/m over
the W constant. Finally for changing r values, area of a circle
becomes Eq. (187).

A = nr? (187)

Fig. 29: The area scanned

On Fig. 29, there are two circles which were drawn nested
manner, and have |AC| = r; and |AB| = r; radiuses. At the
end of the scanning for 1 round, the area scanned by |DE|
becomes A, — A for |AC| = ry and |AB| = r; radiuses. During
the process, the distance taken by E point becomes C,, and by
D point becomes C;. For DE. The distance taken by infinite
points between D and E points on |DE| becomes A, — A; as
also it was derived.

This process can be shown as Fig. 30 for the same radiuses
even for half of the circle. It becomes |[DG’| = |DE| =(C,/2
and |CF’| = |6'77| = C1/2. The area of the trapezoid becomes
A(DG'F'C) = (A; — Ay)/2. While r radius is approaching
to 0, the area of trapezoid approaches to ADG’A, and also the
area is approaching to a single circle’s area with r, radius. For
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Fig. 30: The area of the circle in the kind of triangle

the whole circle, it becomes Eq. (187a).

A= lim n(r, = 1)

r—0

(187a)

Hence it becomes 77> for r, = r as there is only 1 radius
after this. For this condition, after this area of the triangle
becomes Cr/2 where C, = C for the whole circle. Finally
over Cr/2 = nr? equation, circumference of a circle becomes
Eq. (187b).

C =2nr (187b)

4.9.2 Computation of pi

Relation between area and circumference of a circle is
Eq. (188)

C=2A/r (188)

where A is area and C is circumference. If the area is an in-
teger and the angle is an angle like 60° which has a certain
value for cos(60) which can be found out by using an equilat-
eral triangle, then by using Eq. (186), r can easily be found
out as the circumference is A/3r and the radius is r, by solv-
ing equation. By this way, also « can be found out by infinite
number of different integer area values for Eq. (189)
m=A/r (189)
As the radius after all, if the angle, and the arc which is de-
pended on 2nra/360 are known on Eq. (186), then  directly
can be found out for cos(60) and r = 1 as well by solving
equation.

5 Discussing

5.1 Wave-particle duality over space

As it can be seen, as the universe or any universe can only
decelerate from absolute space as a part of it, there cannot
be an emptiness without energy. Any mass density can only
emerge over the emergence space which emerges over abso-
lute space as a part of it as wave which is the result of the
time differences as also it is temporary. It is wave; because
there will not emerge a mass part which cannot be defined as
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a density. Any mass is only possible as distributed load that a
reference is required to define it.

Right this point, also particles are waves, and any particle
must have the same formation speed as there is only single
work to create all the universe. Particles’ different mass mag-
nitudes are because of acceleration of the same basic wave for
the same speed. m, = m,f can give a particle’s mass where
m, is the basic mass and f is the basic mass’s frequency; but
actually it is still need more detailed explanation. As it was
stated the above, when absolute space deformed, then energy
and repeat frequency emerge until to be fixed. It always wants
to be fixed if the force which causes the deformation is not re-
moved. During this process, different acceleration wave types
of the same wave emerge. Even if the formation speed is
fixed, waves which form particles can go faster than this for-
mation speed and so can take more distance for the same time
because of the. bigger acceleration caused by space tension;
so as frequency is f = 1, for a fixed speed, as the distance
taken will be bigger for particles, particle forming one of the
same wave will have smaller frequency. This is not the same
thing with m, = m, f even if it can be calculated by this equa-
tion.

Over the work done to create a particle as F,x,, = m,,vz, it
becomes Eq. (190),

F,=mu (190)

where x,, = a,1*, 1 = 1 second and a, = 7= over Eq. (94).
For the work done to create a single free wave as F,x, =
mv%, it becomes Eq. (191),

F, =mw (191)
where x, = a,1%, 1; second and a, = v; therefore the force
which is applied to create a single free wave and the force
which is applied to create a particle which has bigger mass
and energy are the same force. It is impossible if you do not
understand it that any force is distrubuted force by P = FA.

5.1.1 Higgs Field and Higgs Particle

Right this point, Higgs Field or actually free space itself as
entire universe itself is pretty requried as there is no altenative
to create a particle; but the problem is it that, actually there
cannot be a mass particle to bring mass out. There is infinite
frequecy, and also Higgs needs mass particle. The assumed
basic mass particle should be photon.

5.1.2 Michelson-Morley Experiment

In the same manner, an ether or in the other name free
space is required even for Michelson-Morley Experiment [5].
This experiment says that if there was a matter in free space,
it would affect the light; but it is escaped that, actually there is
one work to create all the universe; so any element of the uni-
verse is only depended on the single work’s application speed.
Nothing can change this speed as it is formation speed. Only
energy can change by decreasing mass because of friction
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with space as emergence area which particles emerge over it
always wants to be fixed. For this reason, as particles have no
external energy, they lose mass but emergence space’s itself.
Universe wants to evaporate any particle over it, and after that
wants to be fixed. Formation speed or in the other name light
speed never changes according to an observer.

5.1.3 Yang-Mills’s mass gap and Ultraviolet catastrophe

As the first inference for mass gap [6], as it can be seen
over the resultant force section, matter can only get a fixed
angle to emerge. It means that matter never visits infinite or
zero value. Also emergence space provides 4 > 0 condition
as there cannot be an emptiness without energy because of
deceleration from infinite. It means that matter does not visit
zero energy point even for imaginary time. Deterministic im-
age appears. Even so, still we must separate the virtual part,
and say that matter can visit zero and infinite value that emer-
gence space is included to matter. For the both condition it
gets lost, and absolute space which emergence area emerges
over it remains before emerging again as it has a repeat fre-
quency.

As the second inference, as it can be seen, as space is ab-
solute, also emergence space which particles emerge over it
and it emerges over the absolute space is invariant. Only the
things which emerge over emergence space change and actu-
ally get lost. Also it was there before the beginning of time
as imaginary which means is not absolute but also like not
created even if it was created. It was created like anything;
because nothing can be absolute afterwards as matter is ab-
solute inert. An absolute must work instead of any worker;
but as everything is element of infinity, also nothing can be
created afterwards. This creates an imaginary time.

Because of the same reasons, as any work is done one by
one in a time interval, also radiation radiates one by one with-
out visit infinite or zero values. For example if you assume
that a wave forms a particle by spinning around a circle, for a
calculation method tan(a) never visits zero or infinite value. It
emerges by infinite small motion and these points are always
deferred. Hence, the problem which made Planck busy [7]
is his solution by a frequency and actually by a mass and so

energy gap.

5.2 Probability and the strange cat of Schrodinger

Because of emerging uncertainty, as it was said, matter
only can be defined as a density; so it cannot be said that
matter is there.

If a second system emerges different than creation, like
atom which electrons spin around it, if speed of the electrons
increases, then density of the electron around the atom in-
creases; but it will be distributed around atom. It can only be
said that x% of the mass there and y% of the mass is there. As
the creation is in a time interval, if emergence motion moves
around an atom, as formation motion and outer space mo-
tion are accepted and emerge together, formation will be dis-
tributed around atom as well. After that, it is like emergence
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around atom in different density. Even so, probability is not
an obstacle against determinism. It does not mean anything is
random.

As the strange cat, at is dead and also is alive point, infor-
mation is prepared. Information always exists in both states;
but as nobody can know an information untimely manner
aside infinity itself, the work becomes resistance with a heat
for the infinite creator because of time, and the information is
prepared and created one by one.

5.3 Singulartiy

As matter has an incompatibility feature as stated the
above, a singularity which renders possible infinite magni-
tudes cannot emerge. Already, as denser area will be more
vibration stopper than non-intensive area, a singularity must
be lost before it has not emerged yet.

5.4 Time travel

According to the imaginary time, time is relative and
never past, and never will pass. Created ones are always at
the same place and at the same time; but they are in a state of
flow and time gives a reference right at this point. The energy
that is spent by creatures is mv?> (Js) for a creation speed of v,
and they spend the same amount of energy forever or in the
infinite sum, since everything is the element of infinity; thus
it can be said that time travel is not possbile. Anytime is now.

Additionally, gravity is like general motions; because it
causes acceleration. Even if the masses which are under grav-
itational force effect do not move, acceleration increases their
mass. For example, If gravity is high for a fixed object in this
field, it is like constant acceleration motion in free space; so
let us assume for the moving objects, time passes faster or
slower somehow. As gravity is like constant speed movement
and brings momentum and thus weight out to masses, some-
how also let us assume that gravitational areas affect the way
of time flow in some directions as next or back. In the mix,
in any condition, as time is the displacement duration which
occurs together with energy, without doubt it must affect the
energy of matter. If time decreases, energy decreases. If this
is the condition, then for back time travel, matter gets zero en-
ergy as time was slowed down and finally became zero; thus
matter loses its total energy for the next move. Also zero en-
ergy is not possible because of imaginary time since every-
thing is element of infinity. Crossing or jumping from zero
point is not possible in next time travel move.

Also again for these conditions which are moving objects
or big gravitational fields, if it is chosen one of the options of
time passes faster or slower for back or next time travels, we
need a gravity which must decrease and a gravitational field
which we must stay away and take place at infinite distance
from it. As faster free space moving objects and the fixed ob-
jects which are in strong gravitational fields are assumed as
the same because of nature of gravity, in any mix, we need in-
creasing gravity; but also at the same time we need decreasing
gravitational force. This is a paradox. All of these things sign
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to a now; thus neither back nor next time travels are not possi-
ble. If you want time travel, then space must be lost and then
there will be no next even if it is past or future. As creating
past or future time is a paradox for infinity, it is not possible
even for infinity as well to take an object to its old position if
it moves. Space and time are not independent of each other;
so time travel is not possible.

If you handle a relative time travel, it can be said that it
is possible. If you handle two different thust engines which
have different thrust force, time passes faster for the faster
one relatively.

5.5 Pioneer anomaly

As matter is uncertain which emerges by a frequency, cer-
tainly because of the repeat, there will always emerge a cen-
trifugal force even if it is not a perfect circle. Already perfect
circle is not possible because of the time difference, and be-
cause of this reason, one day The Sun will rise from the west
relatively to our eyes. It is a spin effect like an endless retro
movement. The world’s spin will change, and it is possible
for any particle as well. Think, that a sphere spinning on +x
and —x axis. While it is spinning think, that also it is spinning
much more slower on +y and —y axis.

Every motion has minimum two components on
space with or without reference. Linear motion is
not possible. The actual reason is gravity which
is dependent of the time differences on space.
Possible emerging smallest potential difference
suddenly causes gravity and thus motion. Grav-
itational torque and the other properties of grav-
ity become active at that time. As you can see
over the above stated gravitational calculations in
Gravity section, also gravity has two components
which has different attraction or repulsion force
even at the same time.

Warning

This is a result of the time difference and a single motion.
The motion is like the motion of Mercury around The Sun.
An motion can only emerge by this way. Even if an obser-
vational linear movement relatively to eye is handled, it must
has minimum two different components. If there were no star
in our system, you cannot understand this spinning; because
you will see that it is spinning around itself, and will see that
because of the nature of all motions, as a resultant, it only
spins in one axis as you have no reference.

As the universe has been emerging by a circular motion
like this and is also not absolute, the wave which forms a par-
ticle or moves in free space free manner absolutely must move
due to rotation way of the universe. Even if the rotation was
not constant in a single direction, changing direction of the
force applied of the space as particles emerge over this space
by the force applied of the space, would cause a displacement
which emerges in a single direction due to the initial move-
ment’s direction; because to be one of them before or after of
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the same two Ft work as +Ft and —Ft change displacement;
so space stuff always deviate, and also light cannot come here
after a distance. There can easily emerge some bright points
which a darkness connect them to each other in universe when
we looked at the universe from the outside. Light comes by
different angles after a distance and it can be easily detected.
Spatial frictions also will be effective in red shift even if there
is no other mass in space; because light lose energy thus mass
and frequency as speed cannot decrease.

5.6 Different feature particles

Matter evaporates. There is only one work to create the
universe that is only for free space. Only free space is in-
variant. As particles have no external energy, they evaporate,
and is more in denser area. Also as any work is in a time in-
terval, when a mass moved in one direction, its mass effect
does not become 0, and always decreases forever; so during
a circular motion, it reaches itself at an amount, and it causes
evaporation again. This feature of matter can be healer or dan-
gerous for health; because different gravitational forces cause
different mass particles even for the same type of elements.
For example D, 0 is also water; but it is toxic. Namely, this
will change total energy and so attraction properties. Even
small changes may cause for example delay in radioactivity
by compounding, or may have different affect. The same ele-
ment does not have the same features if they were in a differ-
ent gravitational force because of frictions. It can be realized
as artificial in particle accelerators; because if mass increases
evaporation increases, and when it stopped outer space motion
it can be detected. There are too much possibility that can not
be counted to create different energy the same particle.

5.7 Enuma Elish Tablets: The Babylonian Epic of Cre-
ation

Because of the deceleration from an infinite value by forc-
ing each second, there can never be an emptiness in the other
name absolute energy absence as matter is created over God
or infinite space;so as far as we can see in holy books

“The spirit of God was hovering over the wa-
ters, and God said that let there be light, and there
was light. God saw that the light was good, and
He separated the light from the darkness.”

Genesis/The Beginning
and
“He is he who created for you all things that are
on the earth, after that as he established the throne
on the sky he constructed it as seven skies.”
Quran / Al Baqara - 29
and

“He sits enthroned the above the circle of
the earth, and its people are like grasshoppers.
He stretches out the heavens like a canopy, and
spreads them out like a tent to live in.”
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Isaiah - 40:22 For these information, it may be said, that maybe Vega
Star lost its black hole force by slowly opening itself because

and

“God reigns over the nations; God is seated on
his holy throne.”

Psalm - 47:8

and

“Did not the unbelievers see that when the sky
and the earth were close, we uncoupled them, and
created all living things from water.”

Quran / Al-Anbiya - 30

verses talk about water in the other name space or sky or
heaven; but the creation from water of living things should
aim drinking water.

Also, as it was said in this article or in the other one [1],
the universe emerges as a result of centrifugal force. During
expansion, the waves inter-wined and formed the particles.

“ When the heavens above did not exist; and
earth beneath had not come into being; there was
Apst, the first in order, their begetter; and demi-
urge Tia-mat, who gave birth to them all; they
had mingled their waters together.”

Tablet 1 of Enuma Elish / 1-5

part also can be assumed as an evidence for this.

Some strong information maybe have been damaged in
time; but I think, there were many prophets as actually these
information are heavenly information as a prophet doctrine,
that you can see them in Quran, Bible or Torah, as also I stated
them at the above and in the article I published [1].

“There never was a people, without a warner
having lived among them.”

Quran / Fatir - 24
verse may be an evidence for it.

5.8 Is Nibiru Vega Star?

As visible light loss again, as I said [1], the black hole
radius of r = vmG/c where the gravitational acceleration is
equal to the magnitude of the light speed for 1 second since
gravity is like constant speed movement, any frequency pho-
ton loses its energy at the end of 1 second in this field. Al-
ready as it was said, Schwarzschild radius black hole stops its
own vibration because of the superposition of each particle it
has. Vibration of the particles in Schwarzschild radius black
hole firstly increases extremely, that causes vibration stop at
the end of 1 second as caused a denser space which does not
allow particle creator wave to form particle over space. In
the same manner black holes which have r = vmG/c radius,
have smaller mass and bigger volume than Schwarzschild ra-
dius black hole will also evaporate; but it will be slower than
Schwarzschild radius black hole.
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of the frictional evaporation.

As a result, If a mass gets denser, it always becomes
darker, and finally becomes a black hole if the density in-
creases enough.

“ ...Until when he reached the setting place
of the sun, he found it setting in a pool of murky
water...

...Until he reached the rising place of the sun,
he found it rising on a people for whom we had
made no shelter against it...”

Quran / Al Kahf (83-99)

verses about Dhu’l Qarnain may be evidences for this, and
also Gog and Magog who are told in the whole verses may be
aliens. Here, the shelter can be atmosphere of a planet.

Our sun and its system are going to Vega as we know it
on Solar Apex which is the path of our sun system; so maybe
“setting place of the sun” is Vega in this verse. Also Nibiru
has a meaning like “mass got the center”’; so maybe they gave
this name for these reasons as it has some different but per-
fect meanings which render its different properties. Also al-
ready Nibiru is known as transition planet because of its name.
Maybe this name was used as transformation transition from
black hole to a visible star. Also as Vega star was North Star
before, it may tell its relative transition besides our sun system
orbital.

*“ Nibiru, which is said to have occupied the
passageways of heaven and earth, because every-
one above and below asks Nibiru if they cannot
find the passage. Nibiru is Marduk’s star which
the gods in heaven caused to be visible. Nibiru
stands as a post at the turning point. The others
say of Nibiru the post: “The one who crosses the
middle of the sea (Tiamat) without calm, may his
name be Nibiru, for he takes up the center of it.”
The path of the stars of the sky should be kept
unchanged.”

The Myth of a Sumerian 12th Planet

may be an evidence; because as you can see, there is a sen-
tence, that is “the gods in heaven caused to be visible.” It may
be an appearance from black hole. Also the passage may be
worm holes which also we look for them. It is very sensible
if a bright star suddenly occurs; because you think that there
is door. Also there is a verse in Quran like

“1 swear to the sky and Tariq. What informed
you about Tariq? It is the star of piercing dark-
ness.”

Quran / At Tariq (1-3)

and so also it may also be an evidence for Vega Star. Already
Tariq means “pound” and ““suppress”.

5 Discussing
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6 Adaptations
6.1 Energy generating

As it was said the above, it does not differ for matter, that
it is created or it does work. Matter always does work even if
it does work relatively to us in outer space observational area
by interacting another space elements by using its own en-
ergy without external energy source as a head worker or when
made it worked by man-made forcing with external energy
being the matter is sub-worker which means connected to a
system. To be more valuable of a vehicle or device does not
mean for matter it is valuable. Matter is doing the same work
for any material and work even if it is static or is moving. At
that time, it is only emerging.

Matter is a part of infinite. You can neither detract any-
thing from, nor add anything to infinite, since everything an
element of the infinite; so matter is created by forcing each
second as an absolute must do the work instead of the cre-
ated one, and is created by a repeated motion. This means
that matter is absolute inert. This means mv? (Js) energy po-
tential for a formation velocity of v. As formation will be in
changing values during 1 second, energy must be shown as
(Js) which means “Joule per second”, and also mass must be
shown as (Kgs) which means “Kilograms per second”. These
things mean that we can use matter’s own energy each second
by using matter itself without spending it and external energy
resources. As it always does a formation motion, still it will
be doing a formation motion.

0Dp
ot

= (192)
Eq. (192) is Faraday’s law of induction, and it states that
changing magnetic field produces an electromotive force
(emf) in Voltage unite by creating a potential difference and
an electric field.

Handle a simple machine system which provides force
efficiency and generate electricity by a lever by Ld; = Fd,
where L is load, d; the distance of the load from the center of
gravity, d, is the distance of the force applied from the center
of gravity. For the load which requires E energy to be lifted,
the equation becomes Eq. (193),

Fx=E (193)
where x is the distance taken while applying the fixed magni-
tude force. If the used magnetic flux is increased by making
magnets bigger gradually forever for the fixed force efficiency
distance of d, which is the other hand of the system, even
if the magnetic flux change number is the same, it becomes
Eq. (194) as the distance taken of x must decrease to produce
the same E energy for the same magnitude force.

limx=0

E—00

(194)

It also requires to be O of the work done. The distance taken
for each change must decrease at the amount of the enlarged
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magnets for the same force to produce the same amount of
electricity; thus the work done decreases even if the gener-
ated energy is the same or increases. Finally even electricity
can be generated without external energy, that means zero ex-
ternal work done if it is used big enough magnets. In a high
magnetic field, self-inflicted electron flow which means elec-
tricity can be detected beyond the same order of spins because
of electrons’ movement which occurs at different distances
around their atom. Even if the high violence magnetic field
is fixed without change over time, the movement of the elec-
tron which does not jump another atom in this magnetic field
around its atom can be counted as magnetic flux change. This
work is done matter’s own energy as matter is always together
with a motion. This is like the condition of a gearwheel spin-
ning at a fixed speed. If you give a handle to the system, the
gear will hit the handle forever and will work, and the gear’s
energy is in God’s hands. We can force matter by some in-
citements to work in the name of us by using some amounts
of its own mv® (Js) energy for a formation speed of v.

Also d; can be lengthened to catch the same effect if mag-
netic flux increases; because when d, is lengthened the force
magnitude will increase and the distance taken will decrease
automatically.

But here do not make a calculation like in classic mechan-
ics. For example, if you accelerate a magnet on a rail by +Fr
work, by required assembly with A, N, coil values and the
other wire values, assume that at the entrance of the coils dur-
ing its motion, two poles of the coil are connected to each
other and so the induced current’s magnetic field stopped the
magnet by the same Ft as —Ft. Here, the work done by you
to accelerate the magnet is Fx but the work done by the coil
is Fx + E where E is stored energy for example in a capaci-
tor; so you made magnetic field worked. Even if you do not
use magnetic field of a magnet, it does not mean it does not
work at that time. Also while you are using it, it does not
mean it worked; so for example by a lever like this shape F
that the intersection point of perpendicular two lines is cen-
ter of gravity and is fixed from there to rotate of the system,
assume that there is a magnet placed as SN at the top of the
vertical line, and there is the same magnet bottom of the same
line as well. While you are making the lever moved towards
the bottom from the end of the horizontal line, the emerging
opposite magnetic field from top will push the magnet and
your force applied back but the other one which was placed at
the bottom will help you as the pushing will be in the direc-
tion of your force applied when you use it as a electromagnet
like a coil gun as the ratio of magnetic field and current as
B/I is independent of current. You can catch the same effect
in a rotating field by two the same rotors; but one of them
will be rotating in the opposite direction that it can be pro-
vided some simple gears, that actually even by a single rotor,
it is possible as well. This can be realized even by a single
magnet as well; because the calculation is not like done in the
classic mechanics. Otherwise you make mistake and it will be
hard to understand. Changing size of magnet and its magnetic
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field, distance, coil and wire options for the same amount of
conductor will change everything.

To be more clean of it, I think that I should explain it more
detailed.

M, G BT
] x
STN| SN
FE 1 E2

Fig. 31: Generator

Here, C| and C; are coils that are connected to each other
by a material, and M; and M, are fixed permanent magnets
on the walls. E; is energy source like a battery that voltage
and current are always fixed. As E», it is a power storage unit.
The coils are able to move right and left on a rail on x axis.
‘When both of the switches are closed at the same time, natu-
rally first coil becomes an electromagnet and moves towards
left namely the first magnet due to the direction of the current.
During this time, the second coil is also moving in the same
direction since both of the coils are connected to each other;
but the second magnet will be inducing electricity on the sec-
ond coil. Now, repeat the same action from the standard po-
sition by changing the first magnet’s size and magnetic field
forever gradually after switching off near the wall while mov-
ing the coils to the old and standard position. What happens
there being the coil sizes and the current, the voltage from
the energy source are fixed. The attraction between M, and
C will naturally increase for the condition because of the en-
larged permanent magnet of M;; so M, will be able to induce
more electricity on C; since change in magnetic flux relatively
to time will increase. Here, the work done by E;| will always
fixed since energy is fixed for C;. The work done by M, will
increase, and if you use bigger C», also you can generate more
electricity because of the attraction emerges between enlarged
M 1 and C 1-

Also it is possible without magnets; because the ratio of
magnetic field and current as B/ is independent of current;
so many different size magnetic fields can be created by a
current or induction can be realized for fixed magnetic flux
change amount by changing properties of the coil and the
same weight wire if you risk heat for more. Actually this can
be used for thermoelectric generators to create heat difference.

Already because of the time differences, between each
point of space that means emergence priority,
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D, - D1

8:N2—N1
h—1

shows, that it is always € > 0 where ¢ € R. It means that a
coil even placed at infinite distance from a magnetic field has
a voltage difference between the two top of the wire. If there
is a fixed matter in the core, voltage will increase. If there is a
fixed magnet in the core, then even if also the coil is fixed, the
voltage will greatly increase; so it means that even by switch-
ing two fixed coils have permanent magnet core and have dif-
ferent resistances will cause magnetic flux change; because
electrons’ orbital will slide even a current will not emerge,
that it can emerge by required assembly and switching repeat.
Maybe we can create a micro generator like producing a CPU
that sheets between two permanent magnets will be connected
serially to create high voltage difference to create current be-
yond sliding orbitals.

During generating free electricity, if you ask to matter like
“What are you doing?”, it says that “I am only emerging and
doing a creation motion.”; but at that time it is generating
electricity relatively to you; so do not drain away the power
of universe. Just use it.

6.2 Thrust source

6.2.1 Centrifugal force

As producing thrust, as energy is not independent of force,
it can turn into force. To realize this, Eq. (195) or if a blade
is used instead of a marble placed at the top of a wire, nearly
F/2 centrifugal force is perfect closed system thrust engine
potential as independent of mass of air or water without op-
posite torque, and it can store huge amount of energy by a
small energy amount when it is required by some transmis-
sion, that the work done is only done against frictions at that
time.

my? sin(a)
F=—— (195)
r

More thrust than jet fighters can be produced in the same
volume without fuel and other external energy resources even
by the electricity generating methods.

In classical propeller systems, you must hold on air to pro-
duce thrust by propeller blades; so the mass for the energy of
the work done is directly must be the vehicle which is aimed
to move; but by the above stated method, you can only calcu-
late the mass of a propeller. It can produce thrust as much as
tensile strength of the used materials for the propeller and the
blades.

Also if it is connected around a rotating wheel, you can
produce torque for any machine.

6.2.2 Imbalance

To be one of them before or after of two the same opposite
Ft work as +Ft and —Ft changes displacement. It becomes
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Eq. (196),
Ft? - F?
-—x=—+
—-m m
where x, is the distance taken during acceleration, x, is the
distance taken during deceleration, and x = x, + x,.

In the same manner, if a particle is accelerated between
two plates and then is decelerated between another two plates
have more distance between the plates but the voltage is the
same with the accelerating plates in an electric field, emerging
resutant force as thrust becomes Eq. (197),

(196)

Iqg—1g

(197)

Fr=mv
Lqty
where t; is the deceleration time and ¢, is the acceleration
time. It does not have to be a particle acceleration. It is valid
for any type of imbalance.

6.3 Interstellar communication methods

6.3.1 Entropy and universal energy preservation

The focal points of the universe which means particles,
have been evaporating ; but this evaporation cannot change
the total mass and energy of the universe. Particles emerge
over the space without having an external energy. As a zero
resistance is required to be able to go at infinite speed, also
particles cannot go at this speed; so particles lose energy and
mass by evaporation as they have no external supporter en-
ergy. As particles emerge over a space which wants to be
fixed as matter is created by a forcing each second, and as no
work can be done untimely manner, a disorder period occurs
and excludes particles in the other name space waves from the
space which particles emerge over it. This is the same event
with it, that if you stretch a curtain by hand which was al-
ready stretched, you feel a resistance. Like in this event, as
particles have no other external energy, they lose their ener-
gies by some periods, even if external frictional and gravita-
tional losses which are a second effect on each other are not
included as well. Evaporation means decrease in vibration.
Particles which are on a denser space tend to stop faster man-
ner. Total energy and mass of the universe are fixed during
this evaporation, and only its radius and density can change.

This feature of the universe can be used for communica-
tion. We can easily calculate the evaporation amount each
second if we can achieve the identical simulation of the uni-
verse . This cannot be known theoretically as any formation
will cause different density and so will cause different evap-
oration amounts. When we create a human made anomaly,
we can compare the results, and can use these difference for
instant communication.

6.3.2 Space collecting by small scale imitation of the

starting condition of matter

As it was said the above, matter uses the same space for
any work; so the distance taken at the beginning of time was
scanning of all the universe. This condition can be imitable.
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For example, if an electron creator wave scans more space for
the same speed and if causes more mass density in an unit of
volume, it can go faster than light even the light speed is fixed
at that time but it is not formed by other sub-atomic particles;
because as sub particles can behave differently for changing
frequencies, also they can exclude extra drawn mass; so you
should use the particles which are not formed by other sub-
atomic particles, and you need a good vibration resource, that
it was explained the below. During this transfer, naturally
there will be a deformation amount.

As there is no absolute threshold value to be in accordance
with uncertainty, relative extreme energies are able to realize
this oneself without vibration sources; because by this way,
forces emerge for each small periods of time will be taken
over threshold value. For example, Magnetars may realize
this. Maybe some of high energy particles are counted as still
in the Magnetar which sent them even if they got place for
example around the Earth at that time.

Creating artificial sub-atomic communication particles

Formation of particles was during expansion of the uni-
verse by an ignored time differences between different par-
ticles. During expansion of the universe, as there were dif-
ferent density spaces, also for the fixed light speed and the
basic mass particle, there were different size particles even
the same basic formation particle always wanted to create the
same particle, and they have different internal vacuum forces
because of the emerging centrifugal force since different den-
sity spaces were emerging during the expansion because of
change in the density of the universe. This does not mean that
we need the same event with the same physical magnitudes to
create a new particle. Many different frequencies to create dif-
ferent particles were emerging and decaying at the singularity
of the beginning of time. These frequencies are like bicycle
rim frequency that you suppose it turned back. It is possible
to create new type of particles and atoms by using free space.
We must pass many photon particles by an ignored time dif-
ference from the same point of the space, actually by using
ionizer photons to gain the smallest time difference. We must
create a big density. As each action is in a time interval, this
event will start render a particle slowly or suddenly according
to used particle number and energy. This is like digging water
by stones. There will be a collapse and then suddenly will be
an expansion. Photon will start to move around a circle by
vacuuming the space. New type of elements do not have to be
similar with the current ones. As they can have smaller num-
ber of subatomic particles, also even they can be formed as
one particle nucleus and orbital particle, which do not consist
of other subatomic particles. They can be heavier than the cur-
rent ones millions of time, if the wave spins around required
radius; but its life time will be short as the frequency and thus
the friction frequency will be bigger. As we can build new
planets have the same gravity with the planet earth, also we
can create some particles which collect more space and can
go faster than the light naturally. These ones can be used for
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communication as artificial subatomic communication parti-
cles.

Vibration source

When a particle passes through an electric field, during
passing duration, the particle decreases the electric field’s en-
ergy for other works; so if you assume that there is a fixed
material in the magnetic field, the magnetic field would in-
duce electricity during this passing on this material which is in
the electric field as magnetic flux is going to change because
of the energy sucking of the particle. As this method is pretty
good vibration instrument to vibrate magnetic field by some
particles in the magnetic field, also is a pretty good computer
processor potential. We can align electrodes which are made
of semiconductor or dielectric materials around a circle, and
each one of them vibrates at visible light frequency. We can
use noble gas nucleus or ion, or can use air particles directly
from a magnetic plasma by rotating them in this circular area.
It is possible to produce a coin size processor runs at 1020~
Hertz. As this frequency is not because of a single particle,
it is not going to be ionizer. To block constant acceleration
of particles, we should only accelerate them by some periods.
To use more particles or slow particles some time only effect
the process number, and some usual fluctuation are not so im-
portant. Even its energy will not be as much as a toy laser.

To be smaller of data which is sent, will directly make en-
ergy and work done to send data smaller; so these processors
must be used to process data before sending data. For ex-
ample, we can record a data group like in the Table 10 by the
most appropriate function or changing functions which are for
remaining bits.

Table 10: The current data bits to be cut

| 10

This record would be according to f(x) = 3x — 2 function
for Table 10 data, and for example it is recorded as A124. This
means that there are 4 pieces of 0 which the distance between
each one of them is 2. As this code is going to get bigger by
increasing number of bits, the same will be done for the code
itself again and again. It should be made as the smallest as
possible by using new hardware or software characters, or by
using uppercase and lowercase letters together with a required
combination.

6.3.3 Lowering mass for short distance communication

As required by uncertainty, each work can only be done
in a time interval. Also as it was said the above, being ?, is
the Planck time, the universe is spinning at 1/¢, frequency for
1 second and it forms free space, after that it forms particles
over the free space. It means that if particles are forced to be
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formed when the universe is not there, mass magnitude is go-
ing to decrease at the same amount. If emerging frequency of
particles is taken to empty space by an empty space frequency,
it means any mass can be transferred at near light speed or at
high speeds.
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